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EXAM DATE : 13-September-2017

EXAM NAME : SSC Examination EXAM START TIME : 10:00:00

TOTAL MARKS : 200 EXAM DURATION : 02:00 Hrs
TOTAL NO OF QUESTIONS : 200

QID : 1 - In the following question, select the missing number from the given series.
5,8,12,17,23,?

el weat & v a1v fashedl & § oo 37 AT HIioIT|

5,8,12,17,23,?

Options:

1) 28

2)30

3)31

4) 29
Correct Answer: 30
Candidate Answer: 30

QID : 2 - In the following question, select the missing number from the given series.
43, 45, 50, 60, ?, 103

TFeATe e weat # U ¢ fashodt & & oo 37 o1d Hifoie|

43, 45, 50, 60, ?, 103

Options:

1) 79

2)77

3) 64

4) 69
Correct Answer: 77
Candidate Answer: 69

QID : 3 - In the following question, select the missing number from the given series.
12, 18, 27,40.5,?

TF=ATe e weat # 74U 91¢ fashoul & & ot 3ish o1d Hifaw|

12, 18, 27,40.5,?

Options:

1) 58.75

2) 64.25

3) 60.75

4)72.5
Correct Answer: 60.75
Candidate Answer: 72.5

QID : 4 - In the following question, select the missing number from the given series.
543, 327, 202,?, 111,103
TerAfated woat # fev 1w fashedt # & e 3ish AT HIoIT|

543,327, 202,?, 111,103
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Options:
1) 138

2) 142
3) 146

4) 152
Correct Answer: 138
Candidate Answer: 146

QID : 5 - In the following question select the wrong term from the given series.

C9K, E191, G39G, I79E, L159C
Pfaf@d ues & v a1v fYwedt & & 10d Ig AT FIfST]

C9K, E191, G39G, 179E, L159C
Options:
1) E19I

2) L159C
3) I79E

4) G39G
Correct Answer: L159C
Candidate Answer: L159C

QID : 6 - In the following question, which one set of numbers when sequentially placed at the gaps in the given number series shall complete it?
12_1_221_2_1
AT TET weet # FEAT3TT &7 T AT HHE Wil TATAT R FHAAR T F &7 TS TEAT ST T G HLM?

12_1_221_2_1

Options:
1) 2122

2) 1221
3) 2112

4) 1211
Correct Answer: 2112
Candidate Answer: 2112

QID : 7 - In the following question, which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?
P_RPRQR_QPRP__Q
TR weet 3 JaRT & HleT BT FoF WA TATHAT T FHAR T@e F & TS & AT Y I HY?

P_RPRQR_QPRP__Q
Options:

1) RPRQ

2) PQPQ

3) QPQR

4) QPQP

Correct Answer: QPQR
Candidate Answer: QPQP

QID : 8 - Which word will appear second when arranged in order of dictionary?

1. Stubborn
2. Stalemate
3. Stocking
4, Straight
5. Stromy

USEEHIL o AR AT A TR lef T A I TN T JTIT?

1. Stubborn
2. Stalemate
3. Stocking
4, Straight
5. Stromy
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Options:

1) Straight

2) Stromy

3) Stocking

4) None of these

ST q IS FET

Correct Answer: Stocking
Candidate Answer: Straight

QID : 9 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Bailed
2. Brown
3. Boxer
4. Bring
5. Brain

e ereal 1 QTecehrer H 3= ATl Sl & AR ford|

1. Bailed
2. Brown
3. Boxer
4. Bring
5. Brain
Options:
1) 13542
2) 13524
3) 13245
4) 13254

Correct Answer: 13542
Candidate Answer: 13542

QID : 10 - Which word will appear third when arranged in order of dictionary?

QTEEHIRN o AN AU el T hief AT g, AT T T MTIT?

Options:

1) Mandatory

2) Magician

3) Mango

4) Magical

Correct Answer: Mandatory
Candidate Answer: Mango

QID : 11 - Which of the following is the correct logical sequence of the given words?
Tree, Book, Paper, Binding

TrAfaf@d & Sla a1 fGu 70 2reel 1 HgY 3Aqot 5 §?

93, TFaF, T, Foregarsh

Options:

1)2,1,3,4

2)2,4,1,3

3)1,2,3,4

41,3,2,4

Correct Answer: 1, 3, 2, 4
Candidate Answer: 1, 3, 2, 4

QID : 12 - In the following question, select the odd number pair from the given alternatives.

eAfafed weat & v 1w fashedl & & fawe dear Zoa &1 v
Options:

1) 11-1331

2) 10 - 1000

3)12-1728

4)7-363
Correct Answer: 7 — 363
Candidate Answer: 10 — 1000

QID : 13 - In the following question, select the odd number pair from the given alternatives.

TerAfafld weat & v 1w fashedl & @ fawe dear goa &1 gi=v|
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Options:
1)7-56

2)9-90
3)11-132

4) 13 -195
Correct Answer: 13 — 195
Candidate Answer: 13 — 195

QID : 14 - In the following question, select the odd letters from the given alternatives.

TrAfafld weat # U a1v fashet & & fawe 37T &1 giaw|

Options:
1) CDF

2) 1L
3) MNQ

4) STV
Correct Answer: MNQ
Candidate Answer: MNQ

QID : 15 - In the following question, select the odd letters from the given alternatives.

TrAfafed weat # U a1v fashedt & @ fawe 37T &1 giaw|

Options:
1) JIH

2) RQP
3) WU

4) ZXY
Correct Answer: ZXY
Candidate Answer: ZXY

QID : 16 - In the following question, select the odd word from the given alternatives.

Frfafa e 3 R aTe Rieedt # & Rt ereg 1 e
Options:

1) Bottle

arefer

2) Cup

T

3) Jar

SR

4) Funnel

Tholel

Correct Answer: Funnel
Tolel

Candidate Answer: Funnel
Polel

QID : 17 - In the following question, select the odd word pair from the given alternatives.

AT weat # 4T 10 fashoul & & fawe g J7A &1 YiAT|
Options:

1) White:Ocean

ahe : TG

2) Earth : Planet

92y : TE

3) Onion : Vegetable

IS : Tesit

4) Grapes : Fruit

3R ¢ Fol

Correct Answer: White:Ocean
The; : TG

Candidate Answer: White:Ocean

e TG
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QID : 18 - In the following question, select the odd word from the given alternatives.

AT weat # 4T 910 fsheul & & fawa ereg &1 giav|
Options:

1) White

Tk

2) Colour

a@r

3) Red

ol

4) Green

3

Correct Answer: Colour
T

Candidate Answer: Colour

ar

QID : 19 - In the following question, select the related number from the given alternatives.
107 :11449::109:?

Frafaf@d weat & R arw faswedt # & daftrd dear 1 gfaw

107 :11449::109:?

Options:

1) 11881

2) 10881

3) 12991

4) 13891

Correct Answer: 11881

Candidate Answer: 11881

QID : 20 - In the following question, select the related number from the given alternatives.
17:290::11:?

TArAfated woa & v 1w fashedt # & Heiftrd wear 1 giav

17:290::11:?

Options:
1) 122

2) 36
3) 170

4) 190
Correct Answer: 122
Candidate Answer: 122

QID : 21 - In the following question, select the related number from the given alternatives.
7:49::11:?

TerAfated woat & v 1w fashedl & Heftrd T &1 giav|

7:49::11:?

Options:

1) 121

2) 101

3) 111
4) 131

Correct Answer: 121
Candidate Answer: 121

QID : 22 - In the following question, select the related letters from the given alternatives.
MOBILE : NQEMQK : : PHONE : ?
et weat # feu a1v fashet # & Heftra 1R #1 giav|

MOBILE : NQEMQK : : PHONE : ?
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Options:
1) QJRR]

2) QJRS]
3) QIRTI

4) QKRRJ
Correct Answer: QJRRJ
Candidate Answer: QJRR]

QID : 23 - In the following question, select the related letters from the given alternatives.
CORD : BNQC:: LESS:?
frafaf@d weat # T av fasredt # @ Heiftrd 3Rt & gfaw)

CORD : BNQC::LESS:?

Options:
1) KDRR

2) KFRR
3) MDRR

4) KCRR
Correct Answer: KDRR
Candidate Answer: KDRR

QID : 24 - In the following question, select the related letters from the given alternatives.

BOTTLE : APSUKF : : FILLED : ?
Tt weat # U 910 fashoul & & HefArd 3ard &1 9w

BOTTLE : APSUKF : : FILLED : ?

Options:
1) EJXMDE

2) EJXMFE
3) EJLMDE

4) EIKMDE
Correct Answer: EJXMDE
Candidate Answer: EJXMDE

QID : 25 - In the following question, select the related word from the given alternatives.

Gain : Loss : : Sorrow : ?

Frafafld wea # Ry arw faswedt # & waftra erse 1 9w

amriEfigw:?
Options:

1) Anger

rer

2) Happiness

el

3) Disheartened

GRS

4) Unhappy

HIHooT

Correct Answer: Happiness
pesliy

Candidate Answer: Happiness
g

QID : 26 - In the following question, select the related word pair from the given alternatives.
Pray: Temple::?:?

el weat # U a1v fashedt & & Heiftrd eree gva 1 giav)
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Options:
1) Priest : Church
qredY : RReTER
2) Doctor : Hospital
Tafercas : 3rEadrer
3) Teacher : School
Rveten : fagamera
4) Study : School
9eTs : faezmer
Correct Answer: Study : School
9gTs : faezmer
Candidate Answer: Doctor : Hospital

Rfrcae : 3rEadTer

QID : 27 - In the following question, select the related word from the given alternatives.
Milk : Litre : : Mango : ?
TerAfatld weat & fev 1w fashedl # & Heftrd oree; 1 v

Qe e ?
Options:

1) Yellow

drerm

2) Kilogram
[ExipiE

3) Summer

arsff

4) Centimeter

TEHX

Correct Answer: Kilogram

Treltama

Candidate Answer: Kilogram

Toreitams

QID:28-If14L7A2=49and 18L4A2=36,then1I5L5A3 =?

IE14L7A2=49TUT18L4A2=36F,aT15L5A3="?

Options:

1) 25

2) 81

3) 16

4)9

Correct Answer: 25

Candidate Answer: [ NOT ANSWERED ]

QID : 29 - If X’ means ‘+’, '+’ means ‘-, '+’ means '+’ and - means X, then
78—-13+6x7+23=?

I X &/ HT +, B/ HT /I qAT - T HT Y,
78—-13+6x7 +23=7?

Options:

1) 121

2) 153

3)133

4)-13

Correct Answer: 153

Candidate Answer: [ NOT ANSWERED ]

QID : 30 - In the following question, select the word which cannot be formed using the letters of the given word.
RETROGADE

TFrAfaed fashedl & & g 2ee giaw ot QU 31T ereq & 3RT T TN e 6T AT S HehelT |

RETROGADE

Options:

1) READY

2) GRADE

3) TRADE

4) GREAT
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Correct Answer: READY
Candidate Answer: READY

QID : 31 - In the following question, select the word which cannot be formed using the letters of the given word.

PERFORMANCE
Tt fashoul & & g5 oreg YA ST T 37T 2reg; & 3R T TN HTeh LT S=A1dT ST Hehell|

PERFORMANCE
Options:
1) FORM

2) ROMANCE
3) DIME

4) ROME
Correct Answer: DIME
Candidate Answer: DIME

QID : 32 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. All stars are blue.
IL. All blue are black.

Conclusions:
I. Some black are stars.
IIL. All black are stars.

A fT 91T 99T & $© YA 3R IeTeh d1e; 37 HYAT R MR Fov fevsehs w310 &, grefifeh 37 A= A q2AT § Fewiar &7 Fenchh &1 Tl forsend 08 31k T
Fuifa =t & e v wiq & e, e e et & 3R ) gfaawed §

FYe:
L el ar e §
I1. @i e et &1

fashy:

L. & & ar 8

I1. FafY Frer IR &
Options:

1) Only I

Hhael I

2) Only IT

el 11

3) Neither I nor II
FAIAEIL

4) Both I and II

I 2 11 gt

Correct Answer: Only I
Fad [

Candidate Answer: Both I and II
I o 11 =t
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QID : 33 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. All coal are black.
IL. All black are red.

Conclusions:

I. All coal are red.
II. All red are coal.
III. No red is coal.

A T 1T e A F5 U 3R 3e7% qE 37 FUA W IR T fvwy Rw 1w §, gretifes 3708 Aty A1 aeal & eear of aohch §1 @ oy o3 31k f
i ¥ & R 1w A & vy, e e et & 3mur ) giFader §)

HYe:
L. Ty ey ey &1
I1. TefY hrer ofrer 1

fasmy:

1. @8t FiIel el 81

I1. | o el 8

I11. S STl Pl 81 g
Options:

1) Only I

Hhael I

2) Only I and II

hael I 2T 11

3) Only III

dhaer 111

4) All conclusions follow.

et forsey WY 81

Correct Answer: Only I
Hhael I

Candidate Answer: Only I and II
Shael [ 2 I1

QID : 34 - In a certain code language, "COUNTRY" is written as "BPTOSSX". How is "STATE" written in that code language?

s f3firse Az 9T 7, "COUNTRY" &Y "BPTOSSX" for@r ST &1 59 s #rsT & "STATE" &t fvey YR forar sireem?

Options:
1) TSBSF
2) RUZUD
3) RSBUD
4) TUBUD

Correct Answer: RUZUD
Candidate Answer: RSBUD

QID : 35 - In a certain code language, "SENSEX" is written as "VHQVHA". How is "TRIUMPH" written in that code language?

s faflise #s s7wr 7, "SENSEX" &' "VHQVHA" for@r ST &1 57 15 $7T9T & "TRIUMPH" Y f5& g forar swam?

Options:
1) WULXPSK

2) KSPXLUW
3) LWUSPXK

4) JXUSPYK
Correct Answer: WULXPSK
Candidate Answer: WULXPSK
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QID: 36 -
In the following guestion, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

et vy # Br 7w foweul & @ uw =
(?) & T W HE el HEA FgET|

1 3 5
/ -'\.\ _,f’;\‘-\ ff' d \\_‘
/ 14\ /26 \ 77N
7 A L X / \
2 3 4 1 2 1

Options:
1)26
2) 27
3)30
4)32

Correct Answer: 30
Candidate Answer: 26

QID:37-
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

T v # Ry v feur # @ uw R
(?) & T W AT TRl TEW F® AT

3 2 3 4 2 5
4 | 10 5 | 17 8 ?
Options:
1) 12
2) 16
3) 18
4) 20

Correct Answer: 18
Candidate Answer: 18

QID: 38 -
In the following question, select the number which
can be placed at the sign of question mark (?) from

the given alternatives.

e vy # fr or foweu # @ ww R
(?) & TUT W HF T FEA A AT

3|2 | 8|11
7 |43
5 |3 | 2| 2
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Options:
1) 12

2)13
3)15

4) 17
Correct Answer: 13
Candidate Answer: [ NOT ANSWERED ]

QID: 39 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

T vy & G or foweul & @ uy =g
(?) & TUET W H gl T F gRAT

__,’( 1 7\
_|'; ? N /; 4 \'I.
\a5 / \ 11/
N ¥ 24\~>/

Options:

1) 72

2) 76

3)75

4)74

Correct Answer: 76
Candidate Answer: [ NOT ANSWERED ]

QID:40-P, Q, R, Sand T are sitting in a line facing west. P and Q are sitting together. R is sitting at south end and S is sitting at north end. T is neighbour of Q
and R. Who is second from south end?

P, Q R, ST T Ueh UfeFe # uferst &1 3R @ ok 3 &1 P AUT Q Uah &1y 33 §| R 210l 8 o J37 § 77 S el 8 W d3T &1 T, Q AU R &7 ugieht §1 afaroh o
@ GIRT e §?

Options:

1)P

2)R

3)S

4HT

Correct Answer: T

Candidate Answer: [ NOT ANSWERED ]

QID : 41 - Present age of A is 52 years. 8 years hence ages of A and B will be in ratio 4 : 5. What is the present age (in years) of B?

AT aTATET 31 52 ¥ &1 8 Y §1G A U7 B T 37T T 37T 4 ¢ 5 E9IT| B T AT AT Y (ISt #) 4 2

Options:
1) 67

2)75
3)72

4) 60
Correct Answer: 67
Candidate Answer: [ NOT ANSWERED ]

QID : 42 - Weight of A is thrice that of B. Weight of B is 1/4 of C. Weight of C is 5 times of D. Weight of D is 1/6 of E. Who is the lightest?

A T 8T B T fT=T §| B 1 8T C T 1/4 & C 31 8] D 71 5 I[+A1 §| D 7 81K E &7 1/6 ¥ T godhl it 82
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Options:
1)A

2)B
3)C

4)D
Correct Answer: D
Candidate Answer: B

QID : 43 - Present ages of Ram and his father are in ratio of 2 : 3. After 5 years ratio of ages of Ram'’s father and his mother will be 13 : 12. If the present age of
his mother is 55 years, then what will be the age of Ram (in years) 7 years from now?

T TUT 3Tk AT BT ITHT 31 T AT 2 : 3 §| 5 Y TRl A & TAAT TUT SHRT AT 1 31 7 39T 13 : 12 G| FFE IR HATT Y FcianeT 30y 55 a9 &, A
TH 1 31 (@t &) 377eT § 7 I geEre w2 gei?

Options:
1) 43

2) 47
3) 42

4) 45
Correct Answer: 47
Candidate Answer: [ NOT ANSWERED ]

QID: 44 -
Which answer figure will complete the pattern in the
guestion figure?

Fid W IR HFA UH FFHa & ufdww & gu
FHYar?

“~J
(o)

Options:
1)

o]

2)

3)

4)
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Correct Answer:

o]

Candidate Answer:

o]

QID: 45 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& ¢ 3R A F W 3W 3R Hgly # gaw

T & wy wpfa BT &

Options:

1)

2)

3)

/SA
S

4)

Sa

Correct Answer:

Sa

Candidate

Answer:

Sa
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QID : 46 -
A piece of paper is folded and cut as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opehed?

A F wH Al # RTEm FGER FES @
ATSHL FTIA IUT Weled & TG I hd 3R HAHA
st femrs game

8 O]«

N

Options:
1)

O
O

)

2)

3)

Correct Answer:

O 0
O 0O

Candidate Answer: [ NOT ANSWERED ]

QID: 47 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Ify T UoT @t AB YT WX T@T A, &t & s
IO FEAr § ¥ Bia @ Apfa uw e @
e ufafasa gefre

B
Latest Sarkari Jobs, Govt Exam Results,
http://thepracticetest.in/cs_steno_1 7/resp00051 77712c90c3885¢ 14/52
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Options:
1)

2)

3)

4

er:

AR &) B ()|

Candidate Answer:

o

QID: 48 -
In the given figure, what will come opposite to face
containing ‘A’?

g & 7 e A, A TF Fere & fauiE =

HII?
A
B|C|F

G
N

Options:

1)N

2)G

3)B

4)F

Correct Answer: G
Candidate Answer: N
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QID : 49 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 fo 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘A’ can
be represented by 24, 95, efc., and ‘M’ can be represented by 11, 66, etc.
Similarly, you have to identify the set for the word “PARTY".

T e Hhael Th WEATIEE GRT ST TN &, otar TR fawedt # @
st v & e w1 fweut # Br s dearaes sewl & o ot
arr gefw oiw ¥, Star 5 R arw of sncqel & §1 aneg & waew Ak
ufeh & TEar 0 & 4 ¥ 3R e A 5 F 01 3 AR § U 3R
F ugel 3O Ufh AR a@ig # TOLH TEAT g GRS d@ar B
Sereaor & fow ‘A' Y 24, 05, 31T §HT ERIT ST T@haT ¥ TAT ‘M @11,
66, 3G TRT G o Thal &1 &1 oHF & s ud # By g
“PARTY” & fow @o[p @ UgaEan &

Matrix-I Matrix-Il
gl JTAg-Il
01234 o|l6| 7|89
0|P|{C|W|IR]I 5|TIK|P|{F|U
1A|M|{O|Q|S 6|GIM|NH|V
2|{U[X|Y|B|A 7 | E| o)X 3] T
3|EIH|J|L|N B|C|FIW|IL | R
41A[R|T|V|U 9|A|S|UIN|X

Options:

1) 00, 10, 03, 86, 32

2) 00, 95, 32, 31, 89

3) 57,40, 89,79, 78

4) 57,24, 41, 55, 22

Correct Answer: 57, 24, 41, 55, 22
Candidate Answer: 57, 24, 41, 55, 22

QID : 50 -
In the given figure, how many players are young?

& g sl & frad Ryemd gar €2

Players /

Boys /
CEC
Options:
1) 18
2) 20
3)38

4) None of these

T A g AGT

Correct Answer: 38
Candidate Answer: 18

QID : 51 - Who among the following is author of the book "An Inquiry into the Nature and Causes of the Wealth of Nations"?

"TeT TN SoIE & oTaY US Shioisl 31 & do 3T " JEda & s eaiioiad o & &ief §?
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http://thepracticetest.in/cs_steno_1 7/resp00051 77712c90c3885¢ 16/52



10/4/2017 Staff Selection Commision

Options:

1) Marshall
FreTer

2) Pigou

dr

3) Gresham
AT

4) Adam Smith
usH fEAY

Correct Answer: Adam Smith

usH Ay

Candidate Answer: Adam Smith

usH TRy

QID : 52 - "Yojana" magazine is being published by whom among the following?

"ISTAT" IR T FehIRr AT & foraeh garT giar &7

Options:

1) Planning Commission

STAT T

2) National Development Council

TS Farehrer TRe

3) Directorate of Advertising and Visual Publicity
famaeT AR T2 vaR Heemer

4) Ministry of Information and Broadcasting

AT T FHROT HATAT

Correct Answer: Ministry of Information and Broadcasting
AT TF FHROT FATAA

Candidate Answer: National Development Council
gy e aRwe

QID : 53 - Who was the Chairman of the First Finance Commission?

g facd 3T & 3reTeT i A?
Options:

1) K. Santhanam

&, FUTAH

2) K.C. Neogy

.41, et

3) A. K. Chanda

.. g

4) P. V. Rajamannar

qr.dT. TeHeTR

Correct Answer: K.C. Neogy
.41, et

Candidate Answer: K.C. Neogy
.41, et

QID : 54 - From which of following taxes does the Government of India earn the most?

HRT THR I HRAA I AT S TIied eaiiaiad & & had gl g7
Options:

1) Income Tax

3T AT

2) Custom Duty

AT o

3) Wealth Tax

FFafd &

4) Corporation Tax

v =

Correct Answer: Corporation Tax
e =X

Candidate Answer: Income Tax
3T
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QID : 55 - What is the appropriate priority (ascending) order of the following?

1. Panchayat Samiti
2. Gram Sabha
3. District Council

rIfaRd 1 3uged alar (3 & F41 §?

1. 99T FfAfa

2. IqTH AT

3. e aRwe

Options:

1) 3-2-1

2) 2-1-3

3)1-2-3

4) 3-1-2

Correct Answer: 2-1-3
Candidate Answer: 2-1-3

QID : 56 - When was the National Commission for Backward Classes established?

Wﬁwaﬁmﬁmw@?

Options:
1) 1963

2) 1973
3) 1983

4) 1993
Correct Answer: 1983
Candidate Answer: 1993

QID : 57 - The concept "creamy layer" refers to

"SI IR T AT agl
Options:

1) Classification based on the level of education

TRAETT &F TA & MR W Fafaor

2) Classification based on income level

3T & TR F YR TR gafierior

3) Classification based on social level

FTATTSS X & 3TYR W geffertor

4) None of the option is correct.

F1S off e T TET 7L B,

Correct Answer: Classification based on income level
3T & FAX o YR IR FeffeRior

Candidate Answer: Classification based on social level

TS TR & YR ] gaffepor

QID : 58 - Which of the following is not a national political party?

TR & @ FieT T TS AT gl 78T 872
Options:

1) Indian National Lok Dal

AR TS e gof

2) Bahujan Samaj Party

ST AT qrét

3) Bharatiya Janata Party

HRAT STerdT aret

4) Nationalist Congress Party

TSEATET T dret

Correct Answer: Indian National Lok Dal
HRAT TSEIT e Gof

Candidate Answer: Indian National Lok Dal

AR TS olieh gof

QID : 59 - In which articles of the Indian Constitution is the right to freedom described?

AT T TSR AR e & foret 3egeoar 7 afoia &2
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Options:
1) Article 12-18
T 12-18
2) Article 19-22
T 19-22
3) Article 23-28
JeTee 23-28
4) Article 29-50
3eTeE 29-50
Correct Answer: Article 19-22
FeTedE 19-22
Candidate Answer: Article 12-18
3Teog 12-18

QID : 60 - According to the Indian Constitution, who is the head of the executive?

AR AT & 3HTER FIATTCIRT HT GHE Hief 82
Options:

1) Prime Minister

JUTAHAT

2) Cabinet Secretary of Government of India

R TR & AT dfaa

3) President

egafa

4) Union Home Minister

HAT g HAY

Correct Answer: President

qregafd

Candidate Answer: Cabinet Secretary of Government of India
R THR I AT Ffd

QID : 61 - Who among the following was the founder of the Banaras Hindu University?

FARE feeg feafacare & aeams Feafoi@d 7 & Hie 3?2
Options:

1) Rajarshi Purshottam Das Tandon

T gesiica# & E5aT

2) Dr. S. Radhakrishnan

31, TH. TSI

3) Madan Mohan Malaviya

HEsT AigsT ATET

4) Swami Vivekananda

FaT Qe

Correct Answer: Madan Mohan Malaviya
HET Aigel ATET

Candidate Answer: Madan Mohan Malaviya

FAcsT AlgeT ATAT

QID : 62 - Which of the following did the initiation of "Civil Services" in India?

R # AT aidw & Faura e 7 & e frar?
Options:

1) Governor General Warren Hastings
T T AN gieeed

2) Lord Cornwallis

TS FHeTariord

3) Lord William Bentinck

s fafoae dfew

4) None of the option is correct.

F1E off RFeT G TS &,

Correct Answer: Lord Cornwallis

TS FlAdTord

Candidate Answer: Lord William Bentinck

s fafors dfee

QID : 63 - Who among of the following was called the "Fighter Peshwa"?

rAf @ & & foRd "orgTe, JRraT” e STier Ar?
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Options:
1) Bajirao I
SR 9UH
2) Bajirao II
CIEINERACEIE)
3) Balaji Baji Rao
TS SeIRE
4) Balaji Vishwanath
EICICINEEGTIE
Correct Answer: Bajirao I

SSIRE 92U

Candidate Answer: Bajirao I

STSIRTET 92

QID : 64 - Who was the last ruler of the Mauryan dynasty?

Afaer &1 3tfedd aras Sl ar?
Options:

1) Kunala

W

2) Brihadratha

E!'E?;%T

3) Susima

e

4) Samprati

gFafa

Correct Answer: Brihadratha
EILE?\'EI

Candidate Answer: Samprati

FEf

QID : 65 - Where are the evergreen rain forests found?

TETEER auT gef gl ITT ST 2
Options:

1) Indonesia

susfRIT

2) Brazil

CISIC

3) Sri Lanka

Eiceal

4) Myanmar (Burma)
FIAR (FT)

Correct Answer: Brazil

i

Candidate Answer: Myanmar (Burma)
AR (S73T)

QID : 66 - Why is 82.5 ° East Longitude important to India?

82.5° U SRMeR HRA & fAT Fat Hgeaqor 82

Options:

1) It affects the climate of India.

IE AR Y STearg T THT STele ¢.

2) This determines the Indian standard time

IE ARG ATeleh THY T AT HIT §

3) Allahabad is located near this longitude

& 2R & I FAIEIG Feud &

4) It influences the customs of India

Ig 9 & Jfa-Rarst w wemra srerar &

Correct Answer: This determines the Indian standard time
Ig ARAT Aleleh TAYT T fAUROT HIAT &

Candidate Answer: This determines the Indian standard time
Ig ARAT ATeTeh T T [AYROT FHTam &

QID : 67 - Which of the following crops are grown in group during Rabi season in India?

T wH & AlHA 7 9 § Reafaf@a 7 & st @ woo qag 7 3908 Seh 82
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Options:
1) Rice, Maize, Wheat
AqTael, FhT, ?ﬂ{
2) Barley, Maize, Rice
Sit, FerpT, AT
3) Wheat, Mustard, Gram
4) Millet, Gram, Rice
TSR, IedT, Idel
Correct Answer: Wheat, Mustard, Gram
Candidate Answer: Wheat, Mustard, Gram

QID : 68 - How many satellites does Uranus have?

A & forctel 39a1g 87
Options:

1) 16

2)33

3) 27

4) 24

Correct Answer: 27
Candidate Answer: 16

QID : 69 - Popular beverage "coffee" is obtained from which part of the plant?

RTIT 9 "HIBr" I & TFE H1eT & 9Ted g 82

Options:
1) Root

a

2) Leaf

21

) Flower

ﬁ’&"g
0

@

@

o

Correct Answer: Seed

o

Candidate Answer: Flower

8

QID : 70 - Which plant did Gregor Mendel use for hybridization or crossbreeding?

IR Tl o fopg dier I FaoT T geT e ar?
Options:

1) 3Tef

Potato

2) AT

Pea

3) gehex

Beet

4) a9

Apple

Correct Answer: #c{

Pea

Candidate Answer: [ NOT ANSWERED ]

QID : 71 - Which work will not be done properly in the absence of ribosome in a cell?

IR H TSAEH H UL F it @1 Fr 3T §9 § G g7 gram?
Options:

1) Emission

EeEn)

2) Cell division

EAIRCaREE D)

3) Protein synthesis

IIETT HLeloT

4) Photosynthesis

JEhTeT HLTTOT

Correct Answer: Protein synthesis

T HLowoT
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Candidate Answer: [ NOT ANSWERED ]

QID : 72 - On which tree are the silkworms usually nurtured?

WA & Fie FHAITAT FT 95 W qrel S &7
Options:

1) Apple

A9

2) Mulberry

Aed

3) Guava

3THRC

4) Blackberry

STTHeT

9
Correct Answer: Mulberry
Aed
Candidate Answer: Guava
HAZS

QID : 73 - Which of the following enzymes is found in saliva?

AT & & FieT AT TSSH aR H 917 AT 87
Options:

1) Lactase

e

2) Diastase

RS

3) Sucrase

ohol

4) Ptyalin

erafae

Correct Answer: Ptyalin

erafere

Candidate Answer: Sucrase

oot

<}

Staff Selection Commision

QID : 74 - Which of the following nutrients help a player or an athlete to get quick and ample energy?

TS e a1 vyelic A Rrafaf@a & O o g 31 31f8e A F St e gadr 82

Options:

1) Protein

T

2) Carbohydrate
EIEIREEES

3) Fats

gar

4) Vitamins
afas

Correct Answer: Carbohydrate
Frafgrsse

Candidate Answer: Carbohydrate

Fafgrsse

QID : 75 - Which of the following is not sublime material?

AFAfaf@d & ¥ T a1 3edurdst 787 &2
Options:

1) Camphor

R

2) Naphthalene
AFCeNe

3) Alum

[Egcal

4) Ammonium Chloride
IANFATH FARTSS
Correct Answer: Alum

el

Candidate Answer: Naphthalene
AT
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QID : 76 - Newton's first law is also known as

e & g A @ T hgT ST
Options:

1) Law of rotation

et & forret

2) Law of displacement

ToEae v e

3) Law of momentum

|9 T oA

4) None of the option is correct.

FE off RveT TE LT &

Correct Answer: None of the option is correct.
F1E o RFeT G TS &,

Candidate Answer: Law of momentum

T T A

QID : 77 - The lens that collects the rays is called lens.

9E oI it FoRIOT TeRfad T &, 39 o FEd 8.
Options:

1) converging

fFar

2) diverging

HIERY

3) plano lens

CATeAT i

4) meniscus lens

AfAERY o

Correct Answer: converging

EIERIn
Candidate Answer: [ NOT ANSWERED ]

QID : 78 - On which of the following principles does a fuse work?

"t R T IR @ T 87

Options:

1) On the mechanical effect of electricity

Taege & Fifyeh yemra

2) On the magnetic effect of electricity

e & AT yerrd

3) On the chemical effects of electricity

Taegd & A g87d

4) On the thermal effects of electricity
[EERREZEIIRREICAN

Correct Answer: On the thermal effects of electricity
eg & s yerd )

Candidate Answer: On the thermal effects of electricity
Tege & 3vH yerd )X

QID : 79 - What is the full form of "RAM"?

A" (RAM) &7 o7 faed &rm 87

Options:

1) Rare Access Memory

TR T AARY

2) Ramdom Access Memory

{5# vFaE AARY

3) Real Access Memory

R vaaw #AARY

4) None of the option is correct.

Frs off fasheT e 8T &.

Correct Answer: Ramdom Access Memory
=7 wraE AA

Candidate Answer: Ramdom Access Memory

{zH TeaT AARY
QID : 80 - Which one of the following is an example of output computer device?

ST { FieT AT T H3TYE FoYLT f3aT5H T 3ET6I0T 82
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Options:
1) Mouse
HA3H
2) Scanner
T
3) Speaker
T
4) Digital Camera
Bfoeca Fmr
Correct Answer: Speaker

e

Candidate Answer: Digital Camera

[EEECKTN

QID : 81 - When the volume of a gas is reduced on constant heat, its pressure

TR a1 R R I T IITA FH I R 3HH ST |
Options:

1) first increases, but decreases later
TEe 96T &, Y TedT §

2) increases

o &

3) decreases

e Aar

4) remains unchanged

P AR 8T B ¥

Correct Answer: increases

CEnin

Candidate Answer: first increases, but decreases later

I 96T &, T gear g

QID : 82 - A catalyst is a substance that the rate of chemical reactions.

3RS 0T 9T ¥, S It wfafsear g3 #r |
Options:

1) first increases, but decreases later
gg el ST §, T werdr §

2) increases

oI &

3) decreases

T §

4) keeps remain unchanged

IS IR AL e &

Correct Answer: increases

T &

Candidate Answer: decreases
eI

QID : 83 - Who among the following first classified the elements in a periodic table?

3Mad ARON & & & decal 1 effaor el & & aavys fFa= fmar ar?
Options:

1) Mendeleev

Hha

2) Lavoisier

Ao

3) John Newlands

4) Lothar Meyer

IR AR

Correct Answer: Mendeleev
EECICH
Candidate Answer: Mendeleev

BECIEE

QID : 84 - What is the substance that provides energy in form of heat during combustion process called?

A YT S gt ufhar & Foll & &7 F FSAT UeTe A &, I FIT Fgelld 87

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

| know More :05177712¢90c3885¢ 24/52

http://thepracticetest.in/cs_steno_17/respo




10/4/2017 Staff Selection Commision
Options:
1) CNG
HTTSAT
2) Igniter
YUsdelsh
3) Fuel
e
4) Heater
3HS

Correct Answer: Fuel

Bcy

Candidate Answer: Heater
3SHSR

QID : 85 - In which of the following states is the Kanha Kisli Reserve located?

FTegT hdell 3FARVY fAe=ilaiad & ¥ g T 7 3aftyd 2
Options:

1) Chhattisgarh

BISINE

2) Madhya Pradesh

ALIYCA

3) Telangana

AT

4) Uttar Pradesh

3cel JewT

Correct Answer: Madhya Pradesh
HEIYSLT

Candidate Answer: Madhya Pradesh
YA

QID : 86 - Where is the National Botanical Research Institue located?

AT FTEa Y HeTHTT TN Tt e §?
Options:

1) Dehradun

2) Kochi

Fifea

3) Lucknow

[SECEEY

4) Guwahati

IqaTETer

2
Correct Answer: Lucknow
[Sreo ey

Candidate Answer: Dehradun

SeIeg

QID : 87 - What was the main objective of Bachat Lamp Scheme run by Ministry of Power (MoP)?
e FATRT (THA3Y) SART TATT T T AT AT T 7T 32T 4T AR

Options:

1) Encourage the use of CFLs

TIURTS & JINIT T GeaTied HlAT

2) Distribution of CFL

HUHTe &1 fadawor

3) reduce power consumption

Tegd @ud & Fal ol

4) All options are correct.

It e TET &1

Correct Answer: All options are correct.
Tsh e Ty £

Candidate Answer: All options are correct.

T oo Ter €1

QID : 88 - How much cash incentive as maternity benefit is endowed to a women above the age of 19 years under Pradhan Mantri Matritva Vandana Yojana
launched in 2010?

T 3 2010 IE HY TS TAAHAT Alcd TeATT ArofaTT & e 19 T§ F 31 37 61 AT Tofot aTel AT T FERAAT T Fhetett TR &1 Hr AT 82
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Options:
1) Rs 4000
4000 %.

2) Rs 6000
6000 <.

3) Rs 8000
8000 %.

4) Rs 10000
10000 %.

Correct Answer: Rs 6000
6000 %.

Candidate Answer: Rs 6000
6000 .

QID : 89 - Which scientist of India had discovered the instrument to measure the growth of plants?

Staff Selection Commision

R & T dTfaren o ol Y gig T ATer & I i @t i A

Options:

1) CV Raman

@ @ T

2) Jagdish Chandra Bose

SN g A

3) Jayant Narlikar

I AR

4) Birbal Sahni

SRl Agel

Correct Answer: Jagdish Chandra Bose
ST A I

Candidate Answer: Jayant Narlikar

ST ARG

QID : 90 - Which pair is correctly matched in the following?

fTfoiflie 3 Hlor oo gafora &
Options:

1) Aga Khan Cup - Football

3T i Y - el

2) Uber Cup - Golf

3R FY - IMeh

3) Durand Cup - Hockey

(5 9 - gy

4) Ryder Cup - Badminton

B Y - Ss5fHeaT

Correct Answer: Aga Khan Cup - Football
T @ T - Feaier

Candidate Answer: Durand Cup - Hockey
3 3 - g

QID : 91 - "Rovers Cup" is related to which game?

e FO' T W § g &7
Options:
1) Tennis
e
2) Football
W
3) Volleyball
M-
4) Hockey
grehT

Correct Answer: Football
HedTel

-]
Candidate Answer: Tennis

o

QID : 92 - Which is the oldest language of South India?

STI0T IR T TaH et ST HieT IY §7?
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Options:
1) Malayalam
HITAH
2) Tamil
afaer
3) Telugu
g
4) Kannada
Shools
Correct Answer: Tamil

affer

Candidate Answer: Tamil

affer

QID : 93 - In which state is the "Bhimbetka" Cave located?

"siierdehT T R TeT g2
Options:

1) Telangana

AT

2) Karnataka

FeAlch

3) Odisha

KIER

4) Madhya Pradesh

HET G2

Correct Answer: Madhya Pradesh
HET GS2r

Candidate Answer: Madhya Pradesh
HET G2

QID : 94 - Who among the following has not received Booker Prize?

rafaf@a & & frl o qER 781 e 82
Options:

1) Vikram Seth

ICETE )

2) Salman Rushdie

ToAATT T

3) V.S. Naipaul

.o, At

4) Arundhati Roy

seufa

Correct Answer: V.S. Naipaul
dr.og. At

Candidate Answer: Arundhati Roy
It I

QID : 95 - In which of the following fields was Prof. Amartya Sen awarded the Nobel Prize?

e 1A A 1 fefafla # @ g 69 & & 357 Agca ol direr & fav Aee EpR & geatferd R arr ar?
Options:

1) Chemistry

LA TET

2) Global Peace

e enfa

3) Economics

3refemE

4) Medicine

Fafercar

Correct Answer: Economics

3rdemeT

Candidate Answer: Economics
3reres

QID : 96 - Who is the author of "Gita Govinda"?
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Options:
1) Vidyapati
faezmafa
2) Jayadeva
ST
3) Ved Vyas
g T
4) Vishnu Sharma
[ERURiE]
Correct Answer: Jayadeva

ST

Candidate Answer: Jayadeva

ST

QID : 97 - Which country is not related to the "Doklam Issues"?

"SIeReTH 2" T FeT oha o I 77 82
Options:

1) India

HRT

2) China

Bic

3) Bangladesh

STenger

4) Bhutan

e

Correct Answer: Bangladesh
SiTenger
Candidate Answer: [ NOT ANSWERED ]

QID : 98 - Where did the "Indian Ocean Conference 2017" held recently?

1T &) 7 "ST3T 3NI Fitha 2017" gl Adeal g3m
Options:

1) Singapore

RN

2) Colombo

FIeFar

3) Jakarta

STRIAT

4) Male

FHT

Correct Answer: Colombo

FreFar

Candidate Answer: Jakarta

STRIAT

QID : 99 - Which of the following Indian states does not meet the border with Bhutan?

AT & @ forg SR T 1 HAT ST & |1 78T el 82
Options:

1) Sikkim

RiEET:]

2) Meghalaya

AU

3) Arunchal Pradesh
ITEUTIA UG2m

4) West Bengal

IEEE

Correct Answer: Meghalaya

AT

Candidate Answer: West Bengal
qfgeT S9mer

QID : 100 - What is the popular name of the world's highest peak "Mt. Everest" in Nepal?

gferar T Fe Sl WIET "HISE TaREE" T AT A Teh SAlhiog &A1H FT §?
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Options:
1) Mahalangur
HEAIRX
2) Sagarmatha
TIRATAT
3) Chomolungma
AATTAT
4) Khumbutse
GATES

[ -]

Correct Answer: Sagarmatha
FEIRHATAT

Candidate Answer: Sagarmatha
HITATAT

QID : 101 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Many a man have (1)/come to India from Canada (2)/ to live here permanently.(3)/No error (4).

Options:

1)1

2)2

3)3

4) 4

Correct Answer: 4

Candidate Answer: [ NOT ANSWERED ]

QID : 102 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Our cricket team (1)/ comprises of (2)/eleven skilled players. (3)/ No error (4).

Options:
1)1

2)2
3)3

4) 4
Correct Answer: 2
Candidate Answer: 2

QID : 103 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Ashutosh leapt on (1)/ the opportunity (2) that came his way. (3)/ No error (4).

Options:

1)1

2)2

3)3

4) 4

Correct Answer: 1
Candidate Answer: 1

QID : 104 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

I worked (1)/ as a verbal trainer (2)/ for eight months. (3)/ No error (4).

Options:

1)1

2)2

3)3

4) 4

Correct Answer: 4
Candidate Answer: 3

QID : 105 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Every student have (1)/ to submit the assignment (2)/ by this afternoon. (3)/ No error (4).
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Options:
1)1

2)2
3)3

4)4
Correct Answer: 1
Candidate Answer: 1

QID : 106 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Mrs. Gupta invited (1)/ all her daughter-in-laws (2)/ to the grand party last Sunday. (3)/ No error (4).

Options:

1)1

2)2

3)3

4) 4

Correct Answer: 2
Candidate Answer: 2

QID : 107 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Our social science teacher told (1)/ to study the map of the world (2)/ for a test. (3)/ No error (4).

Options:

1)1

2)2

3)3

4)4

Correct Answer: 1
Candidate Answer: 2

QID : 108 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

My sister-in-law (1)/ who lives in Chennai (2)/ have come to stay with us. (3)/ No error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 3
Candidate Answer: 1

QID : 109 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

My friend Sahib (1)/ is one of the best football player (2)/ in the country. (3)/ No error (4).

Options:

1)1

2)2

3)3

4)4

Correct Answer: 2
Candidate Answer: 2

QID : 110 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

When she left the (1)/ house at 10 o'clock her (2)/ daughter was still at home. (3)/ No error (4).

Options:

1)1

2)2

3)3

4)4

Correct Answer: 4
Candidate Answer: 4

QID : 111 - Improve the bracketed part of the sentence.

For the (first time from) 2009, fans in Pakistan may have a reason to celebrate.
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Options:
1) first time after

2) first time since
3) first time along

4) No improvement
Correct Answer: first time since
Candidate Answer: first time since

QID : 112 - Improve the bracketed part of the sentence.

Gayle’s call-up follows a relaxation in Cricket West Indies’ criteria (in orderly to be) eligible for selection.

Options:
1) in order to be

2) from order to be
3) ordering

4) No improvement
Correct Answer: in order to be
Candidate Answer: [ NOT ANSWERED ]

QID : 113 - Improve the bracketed part of the sentence.

The patriots had a comparatively modest start, (scoring as much) 38 in the powerplay.

Options:

1) scoring only

2) scoring enough

3) but scores

4) No improvement

Correct Answer: scoring only

Candidate Answer: scoring only

QID : 114 - Improve the bracketed part of the sentence.

(No sooner after) she was jailed for her conviction on corruption charges, they began taking keen interest in her.

Options:
1) No soon after

2) Soon after
3) Sooner after

4) No improvement
Correct Answer: Soon after
Candidate Answer: No improvement

QID : 115 - Improve the bracketed part of the sentence.

Asking stock exchanges (to examine) possible lapses in their corporate governance.

Options:
1) to testing

2) examining
3) for examining

4) No improvement
Correct Answer: No improvement
Candidate Answer: [ NOT ANSWERED ]

QID : 116 - Improve the bracketed part of the sentence.

He (is a killing) combination of looks and talent.

Options:

1) is a killer

2) is a killed

3) was a killing

4) No improvement
Correct Answer: is a killer

Candidate Answer: was a killing
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QID : 117 - Improve the bracketed part of the sentence.

The project is running behind schedule (for around) three years.

Options:
1) in around

2) at around
3) by around

4) No improvement
Correct Answer: by around
Candidate Answer: at around

QID : 118 - Improve the bracketed part of the sentence.

While the mosquito which spreads chikungunya and dengue, (breeds on) fresh water.

Options:
1) breeds at

2) breeds in
3) breeds above

4) No improvement
Correct Answer: breeds in
Candidate Answer: breeds in

QID : 119 - Improve the bracketed part of the sentence.

These incidents tend to pick-up post monsoon, (there could be) urgent need to focus on preventive measures.

Options:
1) there is an

2) there was an
3) there could have been an

4) No improvement
Correct Answer: there is an
Candidate Answer: [ NOT ANSWERED ]

QID : 120 - Improve the bracketed part of the sentence.

A surprisingly high number of cases of the flu are (being seen) this year.

Options:
1) being taken care

2) being witnessed
3) being shown

4) No improvement
Correct Answer: being witnessed
Candidate Answer: being shown

QID : 121 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Did you find anybody there?

Options:
1) beside

2) else
3) or

4) no
Correct Answer: else
Candidate Answer: else

QID : 122 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

You think you're really hard,
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Options:
1) doesn't you

2) do you
3) didn't you

4) don't you
Correct Answer: don't you
Candidate Answer: don't you

QID : 123 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

It stayed Jaipur for sometime.

Options:
1) at

2) on
3) of

4) to
Correct Answer: at
Candidate Answer: at

QID : 124 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Just wait and see happens.

Options:
1) what

2) where
3) how

4) which
Correct Answer: what
Candidate Answer: what

QID : 125 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Have you visited the Chowki Dhani ?

Options:
1) closely

2) lately
3) nearly

4) surely
Correct Answer: lately
Candidate Answer: lately

QID : 126 - In the following question, out of the four given alternatives, select the one which best expresses the meaning of the given word.

Intoxicating

Options:

1) Stigmatising

2) Stimulating

3) Saddening

4) Sojourning

Correct Answer: Stimulating
Candidate Answer: Sojourning

QID : 127 - In the following question, out of the four given alternatives, select the one which best expresses the meaning of the given word.

Peripheral
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Options:
1) Inessential

2) Middle
3) Important

4) Circumference
Correct Answer: Inessential
Candidate Answer: Circumference

QID : 128 - In the following question, out of the four given alternatives, select the one which best expresses the meaning of the given word.

Agitated

Options:
1) Still

2) Gloomy
3) Aroused

4) Beginner
Correct Answer: Aroused
Candidate Answer: Gloomy

QID : 129 - In the following question, out of the four given alternatives, select the one which best expresses the meaning of the given word.

Concise

Options:
1) Sympathetic

2) Redundant
3) Abridged

4) Expensive
Correct Answer: Abridged
Candidate Answer: Sympathetic

QID : 130 - In the following question, out of the four given alternatives, select the one which best expresses the meaning of the given word.

Wrath

Options:
1) Glee

2) Garland
3) Anticipation

4) Exasperation
Correct Answer: Exasperation
Candidate Answer: Glee

QID : 131 - In the following question, out of the four given alternatives, select the one which is opposite in meaning of the given word.

Degenerate

Options:
1) Corrupt

2) Mean
3) Worsen

4) Moral
Correct Answer: Moral
Candidate Answer: Moral

QID : 132 - In the following question, out of the four given alternatives, select the one which is opposite in meaning of the given word.

Derive

Options:
1) Collect
2) Develop
3) Infer

4) Create

Correct Answer: Create
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Candidate Answer: Create

QID : 133 - In the following question, out of the four given alternatives, select the one which is opposite in meaning of the given word.

Intolerance

Options:
1) Hatred

2) Justness
3) Partial

4) Madness
Correct Answer: Justness
Candidate Answer: Partial

QID : 134 - In the following question, out of the four given alternatives, select the one which is opposite in meaning of the given word.

Condense

Options:

1) Chop

2) Curtail

3) Enlarge

4) Trim

Correct Answer: Enlarge

Candidate Answer: [ NOT ANSWERED ]

QID : 135 - In the following question, out of the four given alternatives, select the one which is opposite in meaning of the given word.

Crucial

Options:
1) Trivial

2) Acute
3) Essential

4) Decisive
Correct Answer: Trivial
Candidate Answer: Acute

QID : 136 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Wide of the mark

Options:

1) Inaccurate

2) Inquisitive

3) Expensive

4) Brightened

Correct Answer: Inaccurate

Candidate Answer: Inquisitive

QID : 137 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To have a bee in one's bonnet

Options:

1) To have something to fall back upon

2) To be obsessed with something

3) To miss an opportunity

4) To find fault in others

Correct Answer: To be obsessed with something

Candidate Answer: To be obsessed with something

QID : 138 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Crying for the moon

Options:

1) Without any aim

2) Really and truly

3) To want the impossible

4) Delaying doing the work

Correct Answer: To want the impossible
Candidate Answer: Without any aim
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QID : 139 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Utopian

Options:

1) Idealistic

2) Weak spot

3) Top priority

4) Source of strength
Correct Answer: Idealistic

Candidate Answer: Source of strength

QID : 140 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Come to grief

Options:

1) Seemed eager to continue

2) To experience something unpleasant
3) Inspite of all difficulties

4) Making one stubborn

Correct Answer: To experience something unpleasant
Candidate Answer: Making one stubborn

QID : 141 - Rearrange the parts of the sentence in correct order.

India surprised

P: the world’s fastest

Q: growing major economy
R: the world by becoming

Options:

1) RPQ

2) RQP

3) PQR

4) QPR

Correct Answer: RPQ

Candidate Answer: RPQ

QID : 142 - Rearrange the parts of the sentence in correct order.

We can save paper

P: in electronic format

Q: and by not printing emails
R: by keeping documents

Options:

1) QPR

2) PRQ

3) RQP

4) RPQ

Correct Answer: RPQ
Candidate Answer: RPQ

QID : 143 - Rearrange the parts of the sentence in correct order.

Some people

P: the presence of pears

Q: feel intimidated by

R: during the learning process

Options:

1) PRQ

2) QPR

3) RQP

4) RPQ

Correct Answer: QPR
Candidate Answer: RQP

QID : 144 - Rearrange the parts of the sentence in correct order.

The object

P: is undoubtedly

Q: something fairly new
R: of adaptive e-learning

Options:
1) PQR
2) QRP
3) RQP
4) RPQ
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Correct Answer: RPQ
Candidate Answer: [ NOT ANSWERED ]

QID : 145 - Rearrange the parts of the sentence in correct order.

Walking is the

P: exercise to

Q: best form of
R: remain healthy

Options:

1) RPQ

2) QPR

3) PQR

4) RQP

Correct Answer: QPR
Candidate Answer: QPR

QID : 146 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

Was the story written by you?

Options:
1) Are you writing the story?

2) Were you writing the story?
3) Did you write the story?

4) Do you write the story?
Correct Answer: Did you write the story?
Candidate Answer: Did you write the story?

QID : 147 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

Someone stole my clutch with all its contents.

Options:

1) My clutch was stolen by someone with all its contents.
2) My clutch with all its contents was stolen.

3) My clutch stolen by someone with all its contents.

4) My clutch with all its contents were stolen.

Correct Answer: My clutch with all its contents was stolen.
Candidate Answer: [ NOT ANSWERED ]

QID : 148 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

We could see the young men of the village at the corner shop every Sunday night.

Options:

1) The young men could see by us at the corner shop every Sunday night.

2) The young men of the village at the corner shop could be seen every Sunday night.
3) The young men could see the corner shop every Sunday night by us.

4) The young men of the village could be seen at the corner shop every Sunday night.

Correct Answer: The young men of the village could be seen at the corner shop every Sunday night.
Candidate Answer: The young men of the village could be seen at the corner shop every Sunday night.

QID : 149 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

Open the window.

Options:
1) The window must be opened.

2) The window will be opened.
3) The window is opened.

4) Let the window be opened.
Correct Answer: Let the window be opened.
Candidate Answer: Let the window be opened.

QID : 150 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

She did not trust any body.
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Options:

1) Nobody was trusted by her.

2) Any body had been trusted by her.
3) No body would be trusted by her.
4) No body has been trusted by her.

Correct Answer: Nobody was trusted by her.
Candidate Answer: Nobody was trusted by her.

QID : 151 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

The children were digging a hole in the ground.

Options:
1) A hole had been dug in the ground by the children.

2) In the ground, the children dug a hole.
3) A hole in the ground has been dug by the children.

4) A hole was being dug by the children in the ground.
Correct Answer: A hole was being dug by the children in the ground.
Candidate Answer: A hole was being dug by the children in the ground.

QID : 152 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

They must now deal with these problems.

Options:
1) These problems must now be dealt with by them.

2) These problems must now be dealing with by them.
3) These problems must now deal with by them.

4) These problems are to be dealt with by them.
Correct Answer: These problems must now be dealt with by them.
Candidate Answer: These problems must now be dealt with by them.

QID : 153 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

I was recommended another doctor.

Options:
1) Somebody recommended another doctor.

2) Somebody recommender me to another doctor.
3) Somebody recommended me another doctor.

4) Somebody recommends me another doctor.
Correct Answer: Somebody recommended me another doctor.
Candidate Answer: Somebody recommended me another doctor.

QID : 154 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

Didn’t they tell you to be here by ten O’clock?

Options:
1) Weren't you told by them to be here by ten O’clock?

2) Haven't they told you to be here by ten O’clock?
3) You were expected to be here by ten O'clock?

4) They expected you to be here by ten O'clock?
Correct Answer: Weren't you told by them to be here by ten O’clock?
Candidate Answer: You were expected to be here by ten O’clock?

QID : 155 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

Don’t touch this bag.
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Options:

1) This bag does not be touched.
2) This bag must not be touched.
3) This bag don't be touched.

4) This bag need not be touched.

Correct Answer: This bag need not be touched.
Candidate Answer: This bag does not be touched.

QID : 156 - sses the same sentence in Indirect/Direct Speech.
Tripti said to me, "I'm going shopping. Can I get you something"?

Options:
1) Tripti said she was going shopping and said to me if I wanted something.

2) Tripti said she was going shopping and asked if I wanted something.
3) Tripti said she was going shopping and asked if she could get me something.

4) Tripti said she is going shopping and asked if she could get me something
Correct Answer: Tripti said she was going shopping and asked if she could get me something.
Candidate Answer: Tripti said she was going shopping and asked if she could get me something.

QID : 157 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

Atul informed his friend that he could make use of his bike while he was away.

Options:
1) Atul said to his friend, "You will make use of my bike while I was away".

2) Atul said to his friend, "Use my bike while I go away".
3) Atul said to his friend, "You can make use of my bike while I am away".

4) Atul asked his friend, "Will you make use of my bike while I am away"?
Correct Answer: Atul said to his friend, "You can make use of my bike while I am away".
Candidate Answer: Atul said to his friend, "You can make use of my bike while I am away".

QID : 158 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

"Don’t do this at home", the teacher told the students.

Options:

1) "You should not be doing this at home" said the teacher.

2) The teacher advised the students not to do that at home.

3) The teacher scolded students for doing it at home.

4) The teacher told students that it was risky to be done at home.

Correct Answer: The teacher advised the students not to do that at home.
Candidate Answer: The teacher advised the students not to do that at home.

QID : 159 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

The captain said to his soldiers, "Do not be afraid of the enemy. Face them bravely".

Options:
1) The captain ordered his soldiers to not be afraid of the enemy and that they had to be faced bravely.

2) The captain asked his soldiers to not be afraid of the enemy but they should be faced bravely.
3) The captain advised his soldiers not to be afraid of the enemy but to face them bravely.

4) The captain told his soldiers not to be afraid of the enemy and they had faced them bravely.
Correct Answer: The captain advised his soldiers not to be afraid of the enemy but to face them bravely.
Candidate Answer: The captain advised his soldiers not to be afraid of the enemy but to face them bravely.

QID : 160 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

Ashish said to Ashima, "I'll return the book after I have read it".

Options:
1) Ashish told Ashima that he will return the book after he has read it.

2) Ashish told Ashima that he would return the book after he has read it.
3) Ashish told Ashima that he will return the book after he read it.

4) Ashish told Ashima that he would return the book after he had read it.
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Correct Answer: Ashish told Ashima that he would return the book after he had read it.
Candidate Answer: Ashish told Ashima that he would return the book after he had read it.

QID : 161 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

Rohan said to his assistant, "Did you discuss this matter with the manager"?

Options:
1) Rohan asked his assistant whether he discussed that matter with the manager.

2) Rohan asked his assistant if you have discussed that matter with the manager.
3) Rohan asked his assistant if he had discussed that matter with the manager.

4) Rohan asked his assistant whether he has discussed that matter with the manager.
Correct Answer: Rohan asked his assistant if he had discussed that matter with the manager.
Candidate Answer: Rohan asked his assistant if he had discussed that matter with the manager.

QID : 162 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

Yogesh said to his boss, "Please allow me to do the presentation".

Options:
1) Yogesh requested his boss to allow him to do the presentation.

2) Yogesh requested his boss to please allow him to do the presentation.
3) Yogesh requested his boss to let him to do the presentation.

4) Yogesh said to his boss to please allow him to do the presentation.
Correct Answer: Yogesh requested his boss to allow him to do the presentation.
Candidate Answer: Yogesh requested his boss to let him to do the presentation.

QID : 163 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

She asked me, "How is your sister"?

Options:
1) She asked me how was my sister.

2) She asked him how my sister is.
3) She asked how sister was.

4) She asked me how my sister was.
Correct Answer: She asked me how my sister was.
Candidate Answer: [ NOT ANSWERED ]

QID : 164 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

My cousin said, "I will be here again tomorrow".

Options:

1) My cousin said that he would be here again tomorrow.

2) My cousin said that he would be there again the next day.
3) My cousin said that he would be here again the next day.
4) My cousin said that I will be here again tomorrow.

Correct Answer: My cousin said that he would be there again the next day.
Candidate Answer: My cousin said that he would be there again the next day.

QID : 165 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

Niharika said to the teacher, "Could you please repeat the question"?

Options:
1) Niharika requested the teacher whether she could please repeat the question.

2) Niharika asked the teacher whether, if she could repeat the question.
3) Niharika requested the teacher to repeat the question.

4) Niharika asked the teacher, if please she could repeat the question.
Correct Answer: Niharika requested the teacher to repeat the question.
Candidate Answer: Niharika requested the teacher whether she could please repeat the question.
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QID : 166 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

Ruskin Bond is an Indian author of British descent. India’s most adored writer Ruskin Bond, was born in Kasauli. Bond spent his early childhood in Jamnagar and
Shimla. At the age of ten, Ruskin went to live at his grandmother's house in Dehradun after his father's death that year from jaundice. Ruskin was raised by his
mother and stepfather. He did his schooling from Bishop Cotton School in Shimla, from where he graduated in 1950 after winning several writing competitions in the
school including the Irwin Divinity Prize and the Hailey Literature Prize. He wrote one of his first short stories, "Untouchable", at the age of sixteen in 1951.He moved
to London and worked in a photo studio while searching for a publisher. After getting it published, Bond used the advance money to pay the sea passage to Bombay
and settle in Dehradun. Since 1963 he has lived as a freelance writer in Mussorie, a town in the Himalayan foothills in Uttarakhand and lives with his adoptive family
in Landour, Mussorie's Ivy Cottage, which has been his house since 1980. About what he likes the most about his life, he said, "That I have been able to write for so
long. I started at the age of 16 or 17 and I am still writing. If I were not a professional writer who was getting published I would still write." In his essay, "On being
an Indian", he explains his Indian identity, "Race did not make me one. Religion did not make me one. But history did. And in the long run, it's history that counts."

Ruskin Bond

Options:
1) is a British Author

2) was born in Jamnagar
3) is an Indian because he was born in India

4) has won several prizes for his contribution towards literature
Correct Answer: has won several prizes for his contribution towards literature
Candidate Answer: is a British Author

QID : 167 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

Ruskin Bond is an Indian author of British descent. India’s most adored writer Ruskin Bond, was born in Kasauli. Bond spent his early childhood in Jamnagar and
Shimla. At the age of ten, Ruskin went to live at his grandmother's house in Dehradun after his father's death that year from jaundice. Ruskin was raised by his
mother and stepfather. He did his schooling from Bishop Cotton School in Shimla, from where he graduated in 1950 after winning several writing competitions in the
school including the Irwin Divinity Prize and the Hailey Literature Prize. He wrote one of his first short stories, "Untouchable", at the age of sixteen in 1951.He moved
to London and worked in a photo studio while searching for a publisher. After getting it published, Bond used the advance money to pay the sea passage to Bombay
and settle in Dehradun. Since 1963 he has lived as a freelance writer in Mussorie, a town in the Himalayan foothills in Uttarakhand and lives with his adoptive family
in Landour, Mussorie's Ivy Cottage, which has been his house since 1980. About what he likes the most about his life, he said, "That I have been able to write for so
long. I started at the age of 16 or 17 and I am still writing. If I were not a professional writer who was getting published I would still write." In his essay, "On being
an Indian", he explains his Indian identity, "Race did not make me one. Religion did not make me one. But history did. And in the long run, it's history that counts."

In 1980, Ruskin Bond settled in Mussorie, what do you think was his age by then?

Options:

1) 29

2)39

3)45

4) Cannot be determined, on the basis of information given in the passage.
Correct Answer: 45

Candidate Answer: Cannot be determined, on the basis of information given in the passage.

QID : 168 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

Ruskin Bond is an Indian author of British descent. India’s most adored writer Ruskin Bond, was born in Kasauli. Bond spent his early childhood in Jamnagar and
Shimla. At the age of ten, Ruskin went to live at his grandmother's house in Dehradun after his father's death that year from jaundice. Ruskin was raised by his
mother and stepfather. He did his schooling from Bishop Cotton School in Shimla, from where he graduated in 1950 after winning several writing competitions in the
school including the Irwin Divinity Prize and the Hailey Literature Prize. He wrote one of his first short stories, "Untouchable", at the age of sixteen in 1951.He moved
to London and worked in a photo studio while searching for a publisher. After getting it published, Bond used the advance money to pay the sea passage to Bombay
and settle in Dehradun. Since 1963 he has lived as a freelance writer in Mussorie, a town in the Himalayan foothills in Uttarakhand and lives with his adoptive family
in Landour, Mussorie's Ivy Cottage, which has been his house since 1980. About what he likes the most about his life, he said, "That I have been able to write for so
long. I started at the age of 16 or 17 and I am still writing. If I were not a professional writer who was getting published I would still write." In his essay, "On being
an Indian", he explains his Indian identity, "Race did not make me one. Religion did not make me one. But history did. And in the long run, it's history that counts."

According to Ruskin Bond, why is he an Indian?

Options:
1) Because his parents have always lived in India.

2) Because he has a history with India.
3) Because he owns a house in India.

4) Because he was raised by his step-father, an Indian Hindu.
Correct Answer: Because he has a history with India.
Candidate Answer: Because he was raised by his step-father, an Indian Hindu.
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QID : 169 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

Ruskin Bond is an Indian author of British descent. India’s most adored writer Ruskin Bond, was born in Kasauli. Bond spent his early childhood in Jamnagar and
Shimla. At the age of ten, Ruskin went to live at his grandmother's house in Dehradun after his father's death that year from jaundice. Ruskin was raised by his
mother and stepfather. He did his schooling from Bishop Cotton School in Shimla, from where he graduated in 1950 after winning several writing competitions in the
school including the Irwin Divinity Prize and the Hailey Literature Prize. He wrote one of his first short stories, "Untouchable", at the age of sixteen in 1951.He moved
to London and worked in a photo studio while searching for a publisher. After getting it published, Bond used the advance money to pay the sea passage to Bombay
and settle in Dehradun. Since 1963 he has lived as a freelance writer in Mussorie, a town in the Himalayan foothills in Uttarakhand and lives with his adoptive family
in Landour, Mussorie's Ivy Cottage, which has been his house since 1980. About what he likes the most about his life, he said, "That I have been able to write for so
long. I started at the age of 16 or 17 and I am still writing. If I were not a professional writer who was getting published I would still write." In his essay, "On being
an Indian", he explains his Indian identity, "Race did not make me one. Religion did not make me one. But history did. And in the long run, it's history that counts."

What did bond do with his first advance payment?

Options:
1) He flew to his dream destination.

2) He bought a house Ivy Cottage in Mussorie.
3) He went back to India from London.

4) He started working for children’s literature.
Correct Answer: He went back to India from London.
Candidate Answer: He flew to his dream destination.

QID : 170 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

Ruskin Bond is an Indian author of British descent. India’s most adored writer Ruskin Bond, was born in Kasauli. Bond spent his early childhood in Jamnagar and
Shimla. At the age of ten, Ruskin went to live at his grandmother's house in Dehradun after his father's death that year from jaundice. Ruskin was raised by his
mother and stepfather. He did his schooling from Bishop Cotton School in Shimla, from where he graduated in 1950 after winning several writing competitions in the
school including the Irwin Divinity Prize and the Hailey Literature Prize. He wrote one of his first short stories, "Untouchable", at the age of sixteen in 1951.He moved
to London and worked in a photo studio while searching for a publisher. After getting it published, Bond used the advance money to pay the sea passage to Bombay
and settle in Dehradun. Since 1963 he has lived as a freelance writer in Mussorie, a town in the Himalayan foothills in Uttarakhand and lives with his adoptive family
in Landour, Mussorie's Ivy Cottage, which has been his house since 1980. About what he likes the most about his life, he said, "That I have been able to write for so
long. I started at the age of 16 or 17 and I am still writing. If I were not a professional writer who was getting published I would still write." In his essay, "On being
an Indian", he explains his Indian identity, "Race did not make me one. Religion did not make me one. But history did. And in the long run, it's history that counts."

Why is Ruskin Bond happy about his life?

Options:
1) Because he has finally settled in India.

2) Because has adopted a family and it is very loving.
3) Because he is successful.

4) Because he has been able to write for so long.
Correct Answer: Because he has been able to write for so long.
Candidate Answer: Because he has finally settled in India.

QID : 171 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

Women and children constitute around 70% of India’s people and are the critical foundation for national development - at present and in the future. Sustained
inclusive growth must begin with children and women- breaking an intergenerational cycle of inequity and multiple deprivations faced by women and girls, as related
to poverty, social exclusion, gender discrimination and under nutrition. This intergenerational cycle of multiple deprivation and violence faced by girls and women is
reflected in the adverse and steeply declining child sex ratio among children under 6 years of age which reached an all-time low of 918 girls for every 1000 boys in
2011. Discrimination against the girl child is also evident in other forms of gross neglect and gender-based violence after birth - infancy, early childhood and
adolescence in aspects of unequal access to health, nutrition, care and education. Ending of gender based inequities, discrimination and violence is stated as a
priority in the Twelfth Plan, and improvement in the adverse and steeply declining child sex ratio is recognised as an overarching Monitorable Target of the Twelfth
Plan for Women and Children. Another key Monitorable Target of the Twelfth Plan is the reduction in the levels of under nutrition among children by half. It is
envisaged that improved child nutrition will also enable the achievement of optimal learning outcomes in education and gender equality. In this context, NAVDISHA —
A National Thematic Workshop on Best Practices in Women and Child Development was organised by the Ministry of Women and Child Development, Government of
India and the Government of Haryana at Panipat, Haryana from 20 to 21 January 2015.

What is NAVDISHA?

Options:

1) A National Thematic Workshop.

2) A movement to fight for the rights of woman.
3) Best Practice in Women and Child Development.
4) Twelfth Plan for Women and Children.

Correct Answer: A National Thematic Workshop.

Candidate Answer: A National Thematic Workshop.
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QID : 172 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

Women and children constitute around 70% of India’s people and are the critical foundation for national development - at present and in the future. Sustained
inclusive growth must begin with children and women- breaking an intergenerational cycle of inequity and multiple deprivations faced by women and girls, as related
to poverty, social exclusion, gender discrimination and under nutrition. This intergenerational cycle of multiple deprivation and violence faced by girls and women is
reflected in the adverse and steeply declining child sex ratio among children under 6 years of age which reached an all-time low of 918 girls for every 1000 boys in
2011. Discrimination against the girl child is also evident in other forms of gross neglect and gender-based violence after birth - infancy, early childhood and
adolescence in aspects of unequal access to health, nutrition, care and education. Ending of gender based inequities, discrimination and violence is stated as a
priority in the Twelfth Plan, and improvement in the adverse and steeply declining child sex ratio is recognised as an overarching Monitorable Target of the Twelfth
Plan for Women and Children. Another key Monitorable Target of the Twelfth Plan is the reduction in the levels of under nutrition among children by half. It is
envisaged that improved child nutrition will also enable the achievement of optimal learning outcomes in education and gender equality. In this context, NAVDISHA —
A National Thematic Workshop on Best Practices in Women and Child Development was organised by the Ministry of Women and Child Development, Government of
India and the Government of Haryana at Panipat, Haryana from 20 to 21 January 2015.

Sustained inclusive growth

Options:
1) must focus on women

2) must begin with children and women
3) must eradicate discrimination against the girl child

4) must lay foundation for national development
Correct Answer: must begin with children and women
Candidate Answer: must eradicate discrimination against the girl child

QID : 173 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

Women and children constitute around 70% of India’s people and are the critical foundation for national development - at present and in the future. Sustained
inclusive growth must begin with children and women- breaking an intergenerational cycle of inequity and multiple deprivations faced by women and girls, as related
to poverty, social exclusion, gender discrimination and under nutrition. This intergenerational cycle of multiple deprivation and violence faced by girls and women is
reflected in the adverse and steeply declining child sex ratio among children under 6 years of age which reached an all-time low of 918 girls for every 1000 boys in
2011. Discrimination against the girl child is also evident in other forms of gross neglect and gender-based violence after birth - infancy, early childhood and
adolescence in aspects of unequal access to health, nutrition, care and education. Ending of gender based inequities, discrimination and violence is stated as a
priority in the Twelfth Plan, and improvement in the adverse and steeply declining child sex ratio is recognised as an overarching Monitorable Target of the Twelfth
Plan for Women and Children. Another key Monitorable Target of the Twelfth Plan is the reduction in the levels of under nutrition among children by half. It is
envisaged that improved child nutrition will also enable the achievement of optimal learning outcomes in education and gender equality. In this context, NAVDISHA —
A National Thematic Workshop on Best Practices in Women and Child Development was organised by the Ministry of Women and Child Development, Government of
India and the Government of Haryana at Panipat, Haryana from 20 to 21 January 2015.

The girl child and male child ratio in India

Options:
1) is evident for everyone to see

2) is a reason behind gender inequalities
3) reached an all-time low in 2011

4) has now begun to increase in favor of a girl child
Correct Answer: reached an all-time low in 2011
Candidate Answer: has now begun to increase in favor of a girl child

QID : 174 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

Women and children constitute around 70% of India’s people and are the critical foundation for national development - at present and in the future. Sustained
inclusive growth must begin with children and women- breaking an intergenerational cycle of inequity and multiple deprivations faced by women and girls, as related
to poverty, social exclusion, gender discrimination and under nutrition. This intergenerational cycle of multiple deprivation and violence faced by girls and women is
reflected in the adverse and steeply declining child sex ratio among children under 6 years of age which reached an all-time low of 918 girls for every 1000 boys in
2011. Discrimination against the girl child is also evident in other forms of gross neglect and gender-based violence after birth - infancy, early childhood and
adolescence in aspects of unequal access to health, nutrition, care and education. Ending of gender based inequities, discrimination and violence is stated as a
priority in the Twelfth Plan, and improvement in the adverse and steeply declining child sex ratio is recognised as an overarching Monitorable Target of the Twelfth
Plan for Women and Children. Another key Monitorable Target of the Twelfth Plan is the reduction in the levels of under nutrition among children by half. It is
envisaged that improved child nutrition will also enable the achievement of optimal learning outcomes in education and gender equality. In this context, NAVDISHA —
A National Thematic Workshop on Best Practices in Women and Child Development was organised by the Ministry of Women and Child Development, Government of
India and the Government of Haryana at Panipat, Haryana from 20 to 21 January 2015.

What is the target of the Twelfth Plan for Women and Children?

Options:
1) Taking care of infancy, early childhood and adolescence in kids.

2) To manage health, nutrition, care and education.
3) Providing right education to the kids all across the nation.

4) Improvement in the adverse and steeply declining child sex ratio.
Correct Answer: Improvement in the adverse and steeply declining child sex ratio.
Candidate Answer: Improvement in the adverse and steeply declining child sex ratio.
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QID : 175 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

Women and children constitute around 70% of India’s people and are the critical foundation for national development - at present and in the future. Sustained
inclusive growth must begin with children and women- breaking an intergenerational cycle of inequity and multiple deprivations faced by women and girls, as related
to poverty, social exclusion, gender discrimination and under nutrition. This intergenerational cycle of multiple deprivation and violence faced by girls and women is
reflected in the adverse and steeply declining child sex ratio among children under 6 years of age which reached an all-time low of 918 girls for every 1000 boys in
2011. Discrimination against the girl child is also evident in other forms of gross neglect and gender-based violence after birth - infancy, early childhood and
adolescence in aspects of unequal access to health, nutrition, care and education. Ending of gender based inequities, discrimination and violence is stated as a
priority in the Twelfth Plan, and improvement in the adverse and steeply declining child sex ratio is recognised as an overarching Monitorable Target of the Twelfth
Plan for Women and Children. Another key Monitorable Target of the Twelfth Plan is the reduction in the levels of under nutrition among children by half. It is
envisaged that improved child nutrition will also enable the achievement of optimal learning outcomes in education and gender equality. In this context, NAVDISHA —
A National Thematic Workshop on Best Practices in Women and Child Development was organised by the Ministry of Women and Child Development, Government of
India and the Government of Haryana at Panipat, Haryana from 20 to 21 January 2015.

How will the reduction in the levels of under nutrition among children by half help?

Options:
1) Improved child nutrition will also enable the achievement of optimal learning outcomes.

2) It will improve girl child and male child ratio.
3) It will help addressing the issues like infant mortality and sudden infant death syndromes.

4) It will help children in speaking their mind.
Correct Answer: Improved child nutrition will also enable the achievement of optimal learning outcomes.
Candidate Answer: [ NOT ANSWERED ]

QID : 176 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

In India the coconut sector plays a secant role in poverty alleviation and employment generation especially among the weaker sections of the society. The industry
provides livelihood to about more than 10 million farm families. Among the major coconut growing states in India, Kerala has the longest history of coconut
cultivation. Other major coconut growing states are Tamil Nadu, Andhra Pradesh and Karnataka. These four states together account for about 90 per cent of the
coconut production in India. The share of Kerala alone comes to about 45 per cent. Kerala's economy is 2 dependent on coconut to a significant extent. Nearly 15
per cent of the state's annual income is derived from the coconut sector. Among the traditional coconut based industries, maximum labour potential exists in coir
industry. Coir, the versatile fiber, besides providing employment to a large number of women, earns foreign exchange of more than 25 crores annually by export of
various coir products. The different stages of coir processing like retting, defibering, spinning and packing are mostly labour intensive. In Kerala around 4 lakhs
people are employed in coir industry, of which nearly 80 per cent are women workers. Copra making is another coconut based traditional industry in Kerala. It is a
labour oriented small- scale industry. Most of the copra making units are adopting traditional methods of copra processing. There are about 12000 copra making
units in India spread over the southern states of which about two thirds are concentrated in Kerala. Coconut oil extraction industry or simply ‘coconut oil industry" is
another major traditional component of the coconut sector. The prices of raw coconuts and copra in Kerala are determined mainly by the demand for coconut oil.
Toddy tapping is yet another traditional area where about 1.20 lakhs Keralites are employed. It is also a labour intensive coconut based industry.

Which state has the longest history of coconut cultivation?

Options:

1) Tamil Nadu
2) Goa

3) Kerala

4) Karnataka

Correct Answer: Kerala
Candidate Answer: Kerala

QID : 177 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

In India the coconut sector plays a secant role in poverty alleviation and employment generation especially among the weaker sections of the society. The industry
provides livelihood to about more than 10 million farm families. Among the major coconut growing states in India, Kerala has the longest history of coconut
cultivation. Other major coconut growing states are Tamil Nadu, Andhra Pradesh and Karnataka. These four states together account for about 90 per cent of the
coconut production in India. The share of Kerala alone comes to about 45 per cent. Kerala's economy is 2 dependent on coconut to a significant extent. Nearly 15
per cent of the state's annual income is derived from the coconut sector. Among the traditional coconut based industries, maximum labour potential exists in coir
industry. Coir, the versatile fiber, besides providing employment to a large number of women, earns foreign exchange of more than 25 crores annually by export of
various coir products. The different stages of coir processing like retting, defibering, spinning and packing are mostly labour intensive. In Kerala around 4 lakhs
people are employed in coir industry, of which nearly 80 per cent are women workers. Copra making is another coconut based traditional industry in Kerala. It is a
labour oriented small- scale industry. Most of the copra making units are adopting traditional methods of copra processing. There are about 12000 copra making
units in India spread over the southern states of which about two thirds are concentrated in Kerala. Coconut oil extraction industry or simply 'coconut oil industry' is
another major traditional component of the coconut sector. The prices of raw coconuts and copra in Kerala are determined mainly by the demand for coconut oil.
Toddy tapping is yet another traditional area where about 1.20 lakhs Keralites are employed. It is also a labour intensive coconut based industry.

In which industry does the maximum labour potential does exists?

Options:
1) Coir Industry

2) Oil Industry
3) Cocoa Industry

4) Copra Industry
Correct Answer: Coir Industry
Candidate Answer: Coir Industry
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QID : 178 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

In India the coconut sector plays a secant role in poverty alleviation and employment generation especially among the weaker sections of the society. The industry
provides livelihood to about more than 10 million farm families. Among the major coconut growing states in India, Kerala has the longest history of coconut
cultivation. Other major coconut growing states are Tamil Nadu, Andhra Pradesh and Karnataka. These four states together account for about 90 per cent of the
coconut production in India. The share of Kerala alone comes to about 45 per cent. Kerala's economy is 2 dependent on coconut to a significant extent. Nearly 15
per cent of the state's annual income is derived from the coconut sector. Among the traditional coconut based industries, maximum labour potential exists in coir
industry. Coir, the versatile fiber, besides providing employment to a large number of women, earns foreign exchange of more than 25 crores annually by export of
various coir products. The different stages of coir processing like retting, defibering, spinning and packing are mostly labour intensive. In Kerala around 4 lakhs
people are employed in coir industry, of which nearly 80 per cent are women workers. Copra making is another coconut based traditional industry in Kerala. It is a
labour oriented small- scale industry. Most of the copra making units are adopting traditional methods of copra processing. There are about 12000 copra making
units in India spread over the southern states of which about two thirds are concentrated in Kerala. Coconut oil extraction industry or simply 'coconut oil industry' is
another major traditional component of the coconut sector. The prices of raw coconuts and copra in Kerala are determined mainly by the demand for coconut oil.
Toddy tapping is yet another traditional area where about 1.20 lakhs Keralites are employed. It is also a labour intensive coconut based industry.

Why is coconut sector very important in our country?

Options:
1) It keeps Keralites employed.

2) It plays a secant role in poverty alleviation and employment generation.
3) It keeps country traditional.

4) It earns foreign exchange of more than 25 crores.
Correct Answer: It plays a secant role in poverty alleviation and employment generation.
Candidate Answer: It plays a secant role in poverty alleviation and employment generation.

QID : 179 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

In India the coconut sector plays a secant role in poverty alleviation and employment generation especially among the weaker sections of the society. The industry
provides livelihood to about more than 10 million farm families. Among the major coconut growing states in India, Kerala has the longest history of coconut
cultivation. Other major coconut growing states are Tamil Nadu, Andhra Pradesh and Karnataka. These four states together account for about 90 per cent of the
coconut production in India. The share of Kerala alone comes to about 45 per cent. Kerala's economy is 2 dependent on coconut to a significant extent. Nearly 15
per cent of the state's annual income is derived from the coconut sector. Among the traditional coconut based industries, maximum labour potential exists in coir
industry. Coir, the versatile fiber, besides providing employment to a large number of women, earns foreign exchange of more than 25 crores annually by export of
various coir products. The different stages of coir processing like retting, defibering, spinning and packing are mostly labour intensive. In Kerala around 4 lakhs
people are employed in coir industry, of which nearly 80 per cent are women workers. Copra making is another coconut based traditional industry in Kerala. It is a
labour oriented small- scale industry. Most of the copra making units are adopting traditional methods of copra processing. There are about 12000 copra making
units in India spread over the southern states of which about two thirds are concentrated in Kerala. Coconut oil extraction industry or simply 'coconut oil industry' is
another major traditional component of the coconut sector. The prices of raw coconuts and copra in Kerala are determined mainly by the demand for coconut oil.
Toddy tapping is yet another traditional area where about 1.20 lakhs Keralites are employed. It is also a labour intensive coconut based industry.

Which are the most labour intensive stages of coir processing?

Options:
1) Tapping

2) Oil extraction
3) Copra making

4) Retting, defibering and spinning
Correct Answer: Retting, defibering and spinning
Candidate Answer: Retting, defibering and spinning

QID : 180 - Read the given passage carefully and select the best answer to each question out of the four given alternatives.

In India the coconut sector plays a secant role in poverty alleviation and employment generation especially among the weaker sections of the society. The industry
provides livelihood to about more than 10 million farm families. Among the major coconut growing states in India, Kerala has the longest history of coconut
cultivation. Other major coconut growing states are Tamil Nadu, Andhra Pradesh and Karnataka. These four states together account for about 90 per cent of the
coconut production in India. The share of Kerala alone comes to about 45 per cent. Kerala's economy is 2 dependent on coconut to a significant extent. Nearly 15
per cent of the state's annual income is derived from the coconut sector. Among the traditional coconut based industries, maximum labour potential exists in coir
industry. Coir, the versatile fiber, besides providing employment to a large number of women, earns foreign exchange of more than 25 crores annually by export of
various coir products. The different stages of coir processing like retting, defibering, spinning and packing are mostly labour intensive. In Kerala around 4 lakhs
people are employed in coir industry, of which nearly 80 per cent are women workers. Copra making is another coconut based traditional industry in Kerala. It is a
labour oriented small- scale industry. Most of the copra making units are adopting traditional methods of copra processing. There are about 12000 copra making
units in India spread over the southern states of which about two thirds are concentrated in Kerala. Coconut oil extraction industry or simply 'coconut oil industry' is
another major traditional component of the coconut sector. The prices of raw coconuts and copra in Kerala are determined mainly by the demand for coconut oil.
Toddy tapping is yet another traditional area where about 1.20 lakhs Keralites are employed. It is also a labour intensive coconut based industry.

According to the passage, which of the following is NOT TRUE?

Options:
1) Out of total coconut production in India, the share of Kerala alone comes to about 45 per cent.

2) The prices of raw coconuts and copra in Kerala are determined mainly by the demand for coconut oil.
3) Nearly 15 per cent of the Kerela's annual income is derived from the coconut sector.

4) The industry provides livelihood to about more than 10 billion farm families.
Correct Answer: The industry provides live :
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Candidate Answer: The industry provides livelihood to about more than 10 billion farm families.

QID : 181 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Ragging refers to an act that the dignity of a person. There have been many of physical and psychological injury due to ragging is colleges and
educational institutions. Nowadays, it has been turned to a to students and their guardians at the time of admission to Engineering, Polytechnic and Medical
colleges. The of ragging offer an argument for it as an to make the students fit for the future for existence. Various evil forms of ragging
are in practice in professional colleges. The reports of incidents of raging in some of the reputed professional colleges and educational institutions are quite

It is a matter of that even though ragging has been criticized for decades, we still come across such incidents of torture. As a result, many
students give up their studies and go back home, some lose their mental balance, and some are seriously injured. Indeed, ragging has become a affair in
the institutions of higher learning, especially in professional colleges. It seems to be a survival of medieval barbarism. The press draws our notice to this cruel
practice.

refers to an act that the

Options:
1) violates

2) supports
3) initiates

4) relates
Correct Answer: violates
Candidate Answer: initiates

QID : 182 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Ragging refers to an act that the dignity of a person. There have been many of physical and psychological injury due to ragging is colleges and
educational institutions. Nowadays, it has been turned to a to students and their guardians at the time of admission to Engineering, Polytechnic and Medical
colleges. The of ragging offer an argument for it as an to make the students fit for the future for existence. Various evil forms of ragging
are in practice in professional colleges. The reports of incidents of raging in some of the reputed professional colleges and educational institutions are quite

It is a matter of that even though ragging has been criticized for decades, we still come across such incidents of torture. As a result, many
students give up their studies and go back home, some lose their mental balance, and some are seriously injured. Indeed, ragging has become a affair in
the institutions of higher learning, especially in professional colleges. It seems to be a survival of medieval barbarism. The press draws our notice to this cruel
practice.

many of physical

Options:
1) punishments

2) complaints
3) rewards

4) compliment
Correct Answer: complaints
Candidate Answer: punishments

QID : 183 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Ragging refers to an act that the dignity of a person. There have been many of physical and psychological injury due to ragging is colleges and
educational institutions. Nowadays, it has been turned to a to students and their guardians at the time of admission to Engineering, Polytechnic and Medical
colleges. The of ragging offer an argument for it as an to make the students fit for the future for existence. Various evil forms of ragging
are in practice in professional colleges. The reports of incidents of raging in some of the reputed professional colleges and educational institutions are quite

It is a matter of that even though ragging has been criticized for decades, we still come across such incidents of torture. As a result, many
students give up their studies and go back home, some lose their mental balance, and some are seriously injured. Indeed, ragging has become a affair in
the institutions of higher learning, especially in professional colleges. It seems to be a survival of medieval barbarism. The press draws our notice to this cruel
practice.

Nowadays, it has been turned to a to students

Options:

1) disaster

2) hell

3) nightmare

4) opportunity

Correct Answer: nightmare
Candidate Answer: opportunity
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QID : 184 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Ragging refers to an act that the dignity of a person. There have been many of physical and psychological injury due to ragging is colleges and
educational institutions. Nowadays, it has been turned to a to students and their guardians at the time of admission to Engineering, Polytechnic and Medical
colleges. The of ragging offer an argument for it as an to make the students fit for the future for existence. Various evil forms of ragging
are in practice in professional colleges. The reports of incidents of raging in some of the reputed professional colleges and educational institutions are quite

It is a matter of that even though ragging has been criticized for decades, we still come across such incidents of torture. As a result, many
students give up their studies and go back home, some lose their mental balance, and some are seriously injured. Indeed, ragging has become a affair in
the institutions of higher learning, especially in professional colleges. It seems to be a survival of medieval barbarism. The press draws our notice to this cruel
practice.

The of ragging offer an argument

Options:
1) agitators

2) opponents
3) critics

4) supporters
Correct Answer: supporters
Candidate Answer: supporters

QID : 185 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Ragging refers to an act that the dignity of a person. There have been many of physical and psychological injury due to ragging is colleges and
educational institutions. Nowadays, it has been turned to a to students and their guardians at the time of admission to Engineering, Polytechnic and Medical
colleges. The of ragging offer an argument for it as an to make the students fit for the future for existence. Various evil forms of ragging
are in practice in professional colleges. The reports of incidents of raging in some of the reputed professional colleges and educational institutions are quite

It is a matter of that even though ragging has been criticized for decades, we still come across such incidents of torture. As a result, many
students give up their studies and go back home, some lose their mental balance, and some are seriously injured. Indeed, ragging has become a affair in
the institutions of higher learning, especially in professional colleges. It seems to be a survival of medieval barbarism. The press draws our notice to this cruel
practice.

as an to make

Options:
1) ordeal

2) pleasure
3) aid

4) association
Correct Answer: aid
Candidate Answer: aid

QID : 186 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Ragging refers to an act that the dignity of a person. There have been many of physical and psychological injury due to ragging is colleges and
educational institutions. Nowadays, it has been turned to a to students and their guardians at the time of admission to Engineering, Polytechnic and Medical
colleges. The of ragging offer an argument for it as an to make the students fit for the future for existence. Various evil forms of ragging
are in practice in professional colleges. The reports of incidents of raging in some of the reputed professional colleges and educational institutions are quite

It is a matter of that even though ragging has been criticized for decades, we still come across such incidents of torture. As a result, many
students give up their studies and go back home, some lose their mental balance, and some are seriously injured. Indeed, ragging has become a affair in
the institutions of higher learning, especially in professional colleges. It seems to be a survival of medieval barbarism. The press draws our notice to this cruel
practice.

the future for existence.

Options:
1) consequence

2) struggle
3) connection

4) reference
Correct Answer: struggle
Candidate Answer: consequence
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QID : 187 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Ragging refers to an act that the dignity of a person. There have been many of physical and psychological injury due to ragging is colleges and
educational institutions. Nowadays, it has been turned to a to students and their guardians at the time of admission to Engineering, Polytechnic and Medical
colleges. The of ragging offer an argument for it as an to make the students fit for the future for existence. Various evil forms of ragging
are in practice in professional colleges. The reports of incidents of raging in some of the reputed professional colleges and educational institutions are quite

It is a matter of that even though ragging has been criticized for decades, we still come across such incidents of torture. As a result, many
students give up their studies and go back home, some lose their mental balance, and some are seriously injured. Indeed, ragging has become a affair in
the institutions of higher learning, especially in professional colleges. It seems to be a survival of medieval barbarism. The press draws our notice to this cruel
practice.

institutions are quite

Options:

1) relieving

2) forgiving

3) alarming

4) interacting

Correct Answer: alarming
Candidate Answer: interacting

QID : 188 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Ragging refers to an act that the dignity of a person. There have been many of physical and psychological injury due to ragging is colleges and
educational institutions. Nowadays, it has been turned to a to students and their guardians at the time of admission to Engineering, Polytechnic and Medical
colleges. The of ragging offer an argument for it as an to make the students fit for the future for existence. Various evil forms of ragging
are in practice in professional colleges. The reports of incidents of raging in some of the reputed professional colleges and educational institutions are quite

It is a matter of that even though ragging has been criticized for decades, we still come across such incidents of torture. As a result, many
students give up their studies and go back home, some lose their mental balance, and some are seriously injured. Indeed, ragging has become a affair in
the institutions of higher learning, especially in professional colleges. It seems to be a survival of medieval barbarism. The press draws our notice to this cruel
practice.

It is a matter of that

Options:
1) pride

2) honour
3) growth

4) shame
Correct Answer: shame
Candidate Answer: shame

QID : 189 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Ragging refers to an act that the dignity of a person. There have been many of physical and psychological injury due to ragging is colleges and
educational institutions. Nowadays, it has been turned to a to students and their guardians at the time of admission to Engineering, Polytechnic and Medical
colleges. The of ragging offer an argument for it as an to make the students fit for the future for existence. Various evil forms of ragging
are in practice in professional colleges. The reports of incidents of raging in some of the reputed professional colleges and educational institutions are quite

It is a matter of that even though ragging has been criticized for decades, we still come across such incidents of torture. As a result, many
students give up their studies and go back home, some lose their mental balance, and some are seriously injured. Indeed, ragging has become a affair in
the institutions of higher learning, especially in professional colleges. It seems to be a survival of medieval barbarism. The press draws our notice to this cruel
practice.

across such incidents of torture.

Options:
1) inhuman

2) humane
3) relational

4) objectional
Correct Answer: inhuman
Candidate Answer: humane
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QID : 190 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Ragging refers to an act that the dignity of a person. There have been many of physical and psychological injury due to ragging is colleges and
educational institutions. Nowadays, it has been turned to a to students and their guardians at the time of admission to Engineering, Polytechnic and Medical
colleges. The of ragging offer an argument for it as an to make the students fit for the future for existence. Various evil forms of ragging
are in practice in professional colleges. The reports of incidents of raging in some of the reputed professional colleges and educational institutions are quite

It is a matter of that even though ragging has been criticized for decades, we still come across such incidents of torture. As a result, many
students give up their studies and go back home, some lose their mental balance, and some are seriously injured. Indeed, ragging has become a affair in
the institutions of higher learning, especially in professional colleges. It seems to be a survival of medieval barbarism. The press draws our notice to this cruel
practice.

ragging has become a

Options:
1) pleasant

2) dreadful
3) wonderful

4) comforting
Correct Answer: dreadful
Candidate Answer: dreadful

QID : 191 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Drug addiction is a social . It has been prevalent in society from time . There are a variety of drugs which are used in various forms. A drug addict
becomes a drug . He cannot live without drugs. It is a form of conditioning that implies a set of mental and behavioural responses to drugs and
related stimuli that result from repeated reinforcement produced by the use of drugs. It implies physical, psychological and psychic dependence on the tolerance of a
drug with a tendency to take more and more drugs. The World Health Organisation has defined drug abuse as a state of periodic, chronic intoxication, to
the individual and to the society, produced by consumption of drugs either natural or synthetic. In other words, the growing urge results in increase of
doses. There are a number of causes which to drug addiction. These include social, economic, religious, and physiological factors. There is a strong

between drug and torn family life. It has been found that broken family structure often forces one to to drug. This is because a person faced with
such situation chooses drug for its euphoric or mind-altering to escape from the immediate situation.

Drug addictionis a social

Options:
1) evil

2) myth
3) disease

4) idea
Correct Answer: evil
Candidate Answer: [ NOT ANSWERED ]

QID : 192 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Drug addiction is a social . It has been prevalent in society from time . There are a variety of drugs which are used in various forms. A drug addict
becomes a drug . He cannot live without drugs. It is a form of conditioning that implies a set of mental and behavioural responses to drugs and
related stimuli that result from repeated reinforcement produced by the use of drugs. It implies physical, psychological and psychic dependence on the tolerance of a
drug with a tendency to take more and more drugs. The World Health Organisation has defined drug abuse as a state of periodic, chronic intoxication, to
the individual and to the society, produced by consumption of drugs either natural or synthetic. In other words, the growing urge results in increase of
doses. There are a number of causes which to drug addiction. These include social, economic, religious, and physiological factors. There is a strong

between drug and torn family life. It has been found that broken family structure often forces one to to drug. This is because a person faced with
such situation chooses drug for its euphoric or mind-altering to escape from the immediate situation.

It has been prevalent in society from time

Options:
1) nostalgic

2) immemorial
3) mortal

4) immortal
Correct Answer: immemorial
Candidate Answer: [ NOT ANSWERED ]
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QID : 193 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Drug addiction is a social . It has been prevalent in society from time . There are a variety of drugs which are used in various forms. A drug addict
becomes a drug . He cannot live without drugs. It is a form of conditioning that implies a set of mental and behavioural responses to drugs and
related stimuli that result from repeated reinforcement produced by the use of drugs. It implies physical, psychological and psychic dependence on the tolerance of a
drug with a tendency to take more and more drugs. The World Health Organisation has defined drug abuse as a state of periodic, chronic intoxication, to
the individual and to the society, produced by consumption of drugs either natural or synthetic. In other words, the growing urge results in increase of
doses. There are a number of causes which to drug addiction. These include social, economic, religious, and physiological factors. There is a strong

between drug and torn family life. It has been found that broken family structure often forces one to to drug. This is because a person faced with
such situation chooses drug for its euphoric or mind-altering to escape from the immediate situation.

A drug addict becomes a drug

Options:
1) associate

2) relative
3) dependent

4) independent
Correct Answer: dependent
Candidate Answer: [ NOT ANSWERED ]

QID : 194 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Drug addiction is a social . It has been prevalent in society from time . There are a variety of drugs which are used in various forms. A drug addict
becomes a drug . He cannot live without drugs. It is a form of conditioning that implies a set of mental and behavioural responses to drugs and
related stimuli that result from repeated reinforcement produced by the use of drugs. It implies physical, psychological and psychic dependence on the tolerance of a
drug with a tendency to take more and more drugs. The World Health Organisation has defined drug abuse as a state of periodic, chronic intoxication, to
the individual and to the society, produced by consumption of drugs either natural or synthetic. In other words, the growing urge results in increase of
doses. There are a number of causes which to drug addiction. These include social, economic, religious, and physiological factors. There is a strong

between drug and torn family life. It has been found that broken family structure often forces one to to drug. This is because a person faced with
such situation chooses drug for its euphoric or mind-altering to escape from the immediate situation.

He cannot live without drugs. It is a form of

Options:
1) political

2) physical
3) economical

4) psychological
Correct Answer: psychological
Candidate Answer: [ NOT ANSWERED ]

QID : 195 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Drug addiction is a social . It has been prevalent in society from time . There are a variety of drugs which are used in various forms. A drug addict

becomes a drug . He cannot live without drugs. It is a form of conditioning that implies a set of mental and behavioural responses to drugs and

related stimuli that result from repeated reinforcement produced by the use of drugs. It implies physical, psychological and psychic dependence on the tolerance of a

drug with a tendency to take more and more drugs. The World Health Organisation has defined drug abuse as a state of periodic, chronic intoxication, to

the individual and to the society, produced by consumption of drugs either natural or synthetic. In other words, the growing urge results in increase of

doses. There are a number of causes which to drug addiction. These include social, economic, religious, and physiological factors. There is a strong
between drug and torn family life. It has been found that broken family structure often forces one to to drug. This is because a person faced with

such situation chooses drug for its euphoric or mind-altering to escape from the immediate situation.

chronic intoxication to the individual

Options:

1) detrimental

2) crucial

3) beneficial

4) Influential
Correct Answer: detrimental
Candidate Answer: [ NOT ANSWERED ]
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QID : 196 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Drug addiction is a social . It has been prevalent in society from time . There are a variety of drugs which are used in various forms. A drug addict
becomes a drug . He cannot live without drugs. It is a form of conditioning that implies a set of mental and behavioural responses to drugs and
related stimuli that result from repeated reinforcement produced by the use of drugs. It implies physical, psychological and psychic dependence on the tolerance of a
drug with a tendency to take more and more drugs. The World Health Organisation has defined drug abuse as a state of periodic, chronic intoxication, to
the individual and to the society, produced by consumption of drugs either natural or synthetic. In other words, the growing urge results in increase of
doses. There are a number of causes which to drug addiction. These include social, economic, religious, and physiological factors. There is a strong

between drug and torn family life. It has been found that broken family structure often forces one to to drug. This is because a person faced with
such situation chooses drug for its euphoric or mind-altering to escape from the immediate situation.

produced by consumption of drugs

Options:
1) mere

2) repeated
3) rare

4) occasionally
Correct Answer: repeated
Candidate Answer: [ NOT ANSWERED ]

QID : 197 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Drug addiction is a social . It has been prevalent in society from time . There are a variety of drugs which are used in various forms. A drug addict
becomes a drug . He cannot live without drugs. It is a form of conditioning that implies a set of mental and behavioural responses to drugs and
related stimuli that result from repeated reinforcement produced by the use of drugs. It implies physical, psychological and psychic dependence on the tolerance of a
drug with a tendency to take more and more drugs. The World Health Organisation has defined drug abuse as a state of periodic, chronic intoxication, to
the individual and to the society, produced by consumption of drugs either natural or synthetic. In other words, the growing urge results in increase of
doses. There are a number of causes which to drug addiction. These include social, economic, religious, and physiological factors. There is a strong

between drug and torn family life. It has been found that broken family structure often forces one to to drug. This is because a person faced with
such situation chooses drug for its euphoric or mind-altering to escape from the immediate situation.

There are a number of causes which

Options:
1) ensure

2) sort
3) lead

4) perform
Correct Answer: lead
Candidate Answer: [ NOT ANSWERED ]

QID : 198 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Drug addiction is a social . It has been prevalent in society from time . There are a variety of drugs which are used in various forms. A drug addict
becomes a drug . He cannot live without drugs. It is a form of conditioning that implies a set of mental and behavioural responses to drugs and
related stimuli that result from repeated reinforcement produced by the use of drugs. It implies physical, psychological and psychic dependence on the tolerance of a
drug with a tendency to take more and more drugs. The World Health Organisation has defined drug abuse as a state of periodic, chronic intoxication, to
the individual and to the society, produced by consumption of drugs either natural or synthetic. In other words, the growing urge results in increase of
doses. There are a number of causes which to drug addiction. These include social, economic, religious, and physiological factors. There is a strong

between drug and torn family life. It has been found that broken family structure often forces one to to drug. This is because a person faced with
such situation chooses drug for its euphoric or mind-altering to escape from the immediate situation.

There is a strong between drug

Options:

1) interruption

2) dissonance

3) conflict

4) nexus

Correct Answer: nexus

Candidate Answer: [ NOT ANSWERED ]
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QID : 199 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Drug addiction is a social . It has been prevalent in society from time . There are a variety of drugs which are used in various forms. A drug addict

becomes a drug . He cannot live without drugs. It is a form of conditioning that implies a set of mental and behavioural responses to drugs and

related stimuli that result from repeated reinforcement produced by the use of drugs. It implies physical, psychological and psychic dependence on the tolerance of a

drug with a tendency to take more and more drugs. The World Health Organisation has defined drug abuse as a state of periodic, chronic intoxication, to

the individual and to the society, produced by consumption of drugs either natural or synthetic. In other words, the growing urge results in increase of

doses. There are a number of causes which to drug addiction. These include social, economic, religious, and physiological factors. There is a strong
between drug and torn family life. It has been found that broken family structure often forces one to to drug. This is because a person faced with

such situation chooses drug for its euphoric or mind-altering to escape from the immediate situation.

one to to drug.

Options:

1) resort

2) place

3) deter

4) reign

Correct Answer: resort
Candidate Answer: [ NOT ANSWERED ]

QID : 200 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Drug addiction is a social . It has been prevalent in society from time . There are a variety of drugs which are used in various forms. A drug addict

becomes a drug . He cannot live without drugs. It is a form of conditioning that implies a set of mental and behavioural responses to drugs and

related stimuli that result from repeated reinforcement produced by the use of drugs. It implies physical, psychological and psychic dependence on the tolerance of a

drug with a tendency to take more and more drugs. The World Health Organisation has defined drug abuse as a state of periodic, chronic intoxication, to

the individual and to the society, produced by consumption of drugs either natural or synthetic. In other words, the growing urge results in increase of

doses. There are a number of causes which to drug addiction. These include social, economic, religious, and physiological factors. There is a strong
between drug and torn family life. It has been found that broken family structure often forces one to to drug. This is because a person faced with

such situation chooses drug for its euphoric or mind-altering to escape from the immediate situation.

euphoric or mind-altering to

Options:

1) cause

2) effect

3) affect

4) result

Correct Answer: effect
Candidate Answer: [ NOT ANSWERED ]
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